CHINMAYA ACADEMY FOR CIVIL SERVICES

State Level Mock Test - 1
A

Booklet Series Register Number

[TimeAllowed:3 Hours] [MaximumMarks:200]
Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

. This Question Booklet contains 200 questions.
2. Answer all questions. All Questions carry equal marks.

. The Test Booklet is printed in ‘A’ series booklet, he/she has to indicate
in the side 2 of the Answer Sheet with Black Ball point pen as follows:

. You must write your Register Number in the space provide on the top
right side of this page. Do not write anything else on the Question
Booklet.

. An Answer Sheet will be supplied to you separately by the invigilator to
mark the answers. You must write your Name, Register No.and other

particulars on side 1 of the Answer Sheet provided.

. You will also encode your Register Number, Subject Code etc., with
Black Ink Ball Point Pen in the space provided on the side 1 of the
Answer Sheet.

. Each question comprises five response [A], [B], [C], [D] and [E]. You have
to select ONLY ONE correct response and mark in your Answer Sheet. In
case you feel that there are more than one correct response, mark the
response which you consider the best. In any case ,choose ONLY ONE
response for each question. Your total marks will depend on the number
of correct responses marked by you in the Answer Sheet.

. In the Answer Sheet there are five brackets [A],[B],[C],[D] and [E] against
each question. To answer the questions you have to mark with Black
Ball point pen ONLY ONE bracket of your choice for each question.
Select one response for each question in the Question Booklet and mark
it in the Answer Sheet. If you mark more than one answer for one
question, the answer will be treated as wrong.

. You should not remove or tear off any sheet from this Question Booklet.
You are not allowed to take this Question Booklet and the Answer Sheet
out of the Examination Hall during the examination. After the
examination is concluded, you must hand over your Answer Sheet to the
invigilator. You are allowed to take the Question Booklet with you one
after the Examination is over.

10.In all matters and incase of doubt, the English Version is final.
11.Do not tick-mark or mark the answer in the Question Bookle
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1) If a country’s growth rate is good but there is no corresponding growth in

employment, then which of the following could be the reasons:

@ BILIG6T auenf&FeF NG HOTMTE QUHSID, SSHCHMHU GCeaucmeveumilitey euemysFe

@ 6vemev eTeullev, LN 6dTeu (I 61 6oTeU M M6V 6TSI &ITIT6UTLD:

A) The growth is coming from better utilization of existing capacity and not because of
increase in investment
@hS aeTIFR HMHECLITSEI6TeT Hmener FMLUILITGSL LIW6TL(MSSI65 60T eLneuld alBHRME, (N&65L 19 60T
B SFILILITEL 3j6L6V

B) The growth is coming from increase in investment but not because of better utilization of
existing capacity.
@bhs euaTiES WHeSL 19T S &FILLNBHS UGS DS, Q6T SHEUNSIETET Slmener FIMHS
Wenmuiey LWeTLGH SSI6USTE) D606V.

C) The growth is coming from both as a result of increase in investment and increase in
capacity utilization
W65 G SFILIL LHMILD HMeT LIweTUML 1960 HH&HIL S weumniler aflenereuns alerisFs
@ueT e GHSID GH DS

D) None of the above.
CM Tl eTHI6|LEl6Vem 6V

2) Which of the following statements could be true for a high savings rate in an
economy?
QUIBETTHTISSH L 2 Wi CFUIILIL efFHHH MG FLh& S 60T Fam MG erflev 6T QILITIHHSILD?
1. Higher investment 9 & WSO
2. Higher consumption s5& B&jey
3. Higher exports 39|5& ghHoinG
Select the correct answer using the code given below:
SC AamH&&LILL 6T GMuiiamL Ll LweaTL®SS) Frlwmer LS eamevsd C5THASH &850 LD:
A) 1 & 2 only B) 1 & 3 only
1 &2 LB 1&3 WL @LW
C) 2 & 3 only D) All of the above

2&3 L (b GLOG6V 2_6TET 3|6M6ITSHSILD

3) Despite being a high saving economy, capital formation may not result in
significant increase in output due to:

2 Wy CFUUILILY QUTBETTSTILONS @) (HHSCUTH LD, CLN6VS 60T 2 (HeUM&H &L LI 6dTeu (HLD
SITI6EUOTTRIGETT6L 2. MUSH UL GMUNLSHE8 B s llmu ghuBSSTSI:

A) Weak administrative machinery B) Illiteracy

Page 2 of 77
https://t.me/ChinmayaTnpsc




CHINMAYA ACADEMY FOR CIVIL SERVICES

LeveTeornmesT BlITeUms: @) WbHS TLD sevallwmlelleremLn
C) High population density D) High capital-output ratio
P& DEHT QTG LTS5 2 WIJ epevser-2 MUSEH ellGgin

4) Which of the following are part of “Seigniorage”?
L9l 6dT6u (IH 6u 6OTEUM NI 6L 6T6M6U "Seigniorage” @) 60T 6 (H LIS HWITGLD?
1. Interest income on reserves kept with RBI for money creation
LI6U0T 2_(HeUMSH&HSBH MEMs FlFTeu sumHUILLD cm6us S (H&H G CFLD 606ULIL & 6T L8 TET 6UL.Lg
6U(HLOTEOTLD
2 Income Tax eu@pLomenr 6uiyl
3. Inflation tax uewreiss surfl
Select the correct answer using the code given below:
FEC Q&TR&&LILLGETeT GMuiemL il LweaTUu®GSS Fiflwmer LUSlenevs CHIHO S M &S LD:
A) 1 only B) 2 only
1 L (D 2 0L (b
C) 1 & 2 only D) All of the above

1&2 LGl GGGV 2_6TET I|6M60TSH SN

5) In Keynes theory , the demand for and supply of money are determined by ....?
Q& I6TeNV CSHITLLIMLLG60, GHemed LoMMILD Lisvor 6T BlCWImssL0 SFumel&slIUuGHmS ?

A) Rate of interest eIl eSO

B) Effective demand vLwssieiter GHemeu

C) Aggregate demand QLrgs CHemeu

D) Aggregate supply QLM&S 6ULpMHISHE

6) With reference to behavioural economics consider the following statements:

BLHMBL Qumpeflwey (behavioural economics) QsmLFUMSEL LN6Teu(BD FamI&Hen6TsS
55611601 L M1 &5 61T:

1. Economic development depends on fiscal policy, monetary policy and taxation
rather than intangible things such as human psychology.

wefly o eaeflwe GCUTETMEUMENM EMIMLOEN QUIIBETISHITT eUaTTFSR BIGS CSHMeTanss,
L60r&Q & MeiTem & oM mid euflefGLIL LS WweumenmC FTiyh Sl6TeTgl.

2. Loan default increases if the frequency of meeting between creditor and debtor
increases.
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SLeTefl5CHMBHEGIL  SLearTmallsEpsGlh Qe FHHLLGHN AH&FEHEGSL CUTEH &L 6T
BT OFVNSHS HUMIGN B &&GLD.

3. Groups and societies that are known to be honest and trustworthy perform badly in
development, due to competitive Capitalist economy.

3. GFemwwment, HLOLNGHmM&ESH G lwWeneu eTeor IMWLILIGWL GWSHSHET LMHMID FENSHBIGEHT GUITLLY
wsevmerflg gleu QLITIHETTSHITS S 60T &ITFeUoTIONS eueTF&FSFIUN6L CLOMEFLOMS G &F W 6L LIH & edTmeor.

Select the incorrect answer using the code given below:
BC QsmH&EsLUUL B 6T GMIuTienL 1 LwWeaTUBH SS Seumimer LIS emevs C&THAS®H & &ea]Lh:
A) 1 only B) 2 and 3 only C) 3 only D) 1,2 and 3

1 L (LD 2 Inmmild 3 L (HLD 3 LD 1,2 InMHmILD 3

7) Consider the following statements regarding Rule Curve:
B cuememey LIMHMIW LN6ITEUIBLD Fo M MIG6METE &5 6L 60T UL 1515 6iT:

1. A rule curve or rule level specifies the storage or empty space to be maintained in a
reservoir during different times of the year.

@ N6 UemeTCHTH 36V6v & NS DL LD @6 BTHCHE S S B 6V I1,600TLY.60T Gleu 6l Gou Ml &Meumi & erfleu
upmwifl&sUuL Geuetrigw GFLAILIL] 96Vevgl &Med QLGS GMULNGSH M.

2. It displays how household expenditure on a particular good or service varies with
change in household income.

@0 GMIULLL LIEITLLD 36V6vg CFameuGSTeT GO UL QF6ve] GH U euBLMerds S UL
LTHMSMSL QUTMIS S eTeueumm LTNILGS M deTLmS @S STLOHMSI.

3. It is part of the “core safety” mechanism in a dam and decides the fluctuating storage
levels in a reservoir.

@58 @@ Semevorwiler "WSHHW UTsISTUL" QUTMlnemmuiler o3 UGH WMGSW WLMHMID eI
BI5CHH855H 6 hHm @masLnmer CFLIILIL] ojaTemel SiTmel1&&H M.

Which of the statements given above is/are incorrect?
CLG6v AEBMH & & LILILHETET Sa M MIG6rfl6L 6TS1/6Tem6U /8 6UMITETEm6U?
A) 1 only B) 2 only C) 1 and 3 only1 D) 1 and 2 only

1 L (HLD 2 I0L_(pILD WMmmih 3 (LD 1 mHmID 2 L (HID

8) With context of Bombay Plan consider the following statements:

ULUMU SLLSS emer S| LILMLIUTES Q& Meor(H SLh&600TL. Fn M) MIG 66T &IT600TSH?
1. The Bombay plan was published under the editorship of John Mathai
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2QIT60T 105G M eTedrLIeufl6dr S LbUMW S L1b QeuerflufiL Ll Lgi.

2. There were evident conflicting views on the economic planning between the
members of Bombay Plan and the National Planning committee.

QUIBETTETIS HLLD GMHs Uubumlg S 2 mulbarisErs G, CHFAWS LS
G Wweller(hd G G emLCW (NTEITUL L &(H5S188&6T Blevallw g Qgerfley.

3. Bombay Plan gave priority to the basic industries.

ULUMUS SILLD gLl g Q5T sHEhs S (Weararflenn o efls s s.

Select the correct answer using the code given below:

BC QsmHHsUULBG 6T GMIuTienL 1 LweaTu®MSS Fiflwmer LSHemevsd CHTHOSH &S LD:
A) 1,2 and 3 only B) 3 only C) 1 and 2 only D) 2 only

1,2 InMmmILD 3 LI 3 LG 1mmith 2 (D 2 (b

9) With reference to The Peoples plan 1990 consider the following statements:
&&ET HILLLD 1990 QSTLTLMS LN6TeU(BHLD T MIS6EM6IT 86U 60r:

1. It was formulated by the communist leaders like Shaukat Usmani, SA Dange,
Muzzafar Ahmed.

@151 &hW,eafleuL. HemeUeuT&6T QFeTHS 2 auLnMmetl, 6TeN.ef.LMEIGCSH, (PFMTUT &0 LSCWITFT6L
2 (BUMSSLILLLSI.

2. Only the industrial sector was highlighted by the people plan due to communist
ideology of workers

Qgmifleumery &Sluwellev SFSGHTHSHH T STIUTONSE QFSTHNL SHleomsS WESHET GLLLD
weraiflew ieflsss!

Select the incorrect answer using the code given below:
SC AamH&&LIULBG 6T GMUTiemL L LWaTUGSS) Seummer LS enevs G5 HAS 0 & 56 LD:
A) 1 only B) 2 only C) Both 1 and 2 D) Neither 1 nor 2

1 LMD 2 0L (pILD 1 mHMILD 2 @Ievor(hLd 1 3evevgl 2 @ IeooT(hlLD @)6L6em6V

10) Government Revenue Receipts not included in the account?
TF 60T uIBEUTU 6uiFeY (Revenue Receipts) &6uuT&:H 6L CFTMTH I ?

A) Interest eul'lg

B) Profit and loss @evmupld @evrmul b

C) Recovery of loans &L eT&emeT & HHLOLIL QILIMISH6)
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D) Weekly receipts from the property Q&FmsHel®HS HemL&HM UMFLD

11) Find the correct statement among the following

GG AaMH&SLILLH6TeTeumMmIGT 6Tg FFlWmeT QFETHAOMTLIT 6T6urs &evor(®H LIl

(i) Finance Commission by the President Recruited

QTTH LG WITEL BIS &GS W UenoflwWisUILUGSRma

(ii) The tenure of a Fund Committee is 5 years

@(b B1H &S (W eN6iT &ITeuLD 5 24, 650T(H & 6iT
A) I only B) ii only C) Both of them D) None of them

| @D i D@D @ gevor(H)LD EAT [ 0Ta)
12) With reference to Agricultural Credit in India, consider the following statements:
@ HH WITell6v CeUEITIT6U0T &L 60T QG ITL.ITLIT6oT LI 6iTeu(HLD FaM MIG6m6Ts: &6ueutl:

1. Regional Rural Banks provide credit particularly to small and marginal farmers,

agricultural laborers, artisan and small entrepreneurs.

LO6UOTL 6V ST UG SG6T GMILILITS G M Mo &0 efleusmuilser, efleuFmwgd Qg msleu ey 6T,

608619 601 60T(6H T8 61T LoM MILD T M1 QS TLHI6L (LD 6 60T G6UITIT S (61585 (S 8L 60T 6L LD MBI (S ) 60T M 60T
2. They cannot issue credit cards to its customers.

@ euMMI6UTITEL 6UITLY.8 608 WITET(H & (S &L 60T |60 QULDMEIS @) W6VITSI.

3. RRB’s can access the marginal standing facility of the RBI, if required.

LOEUITL6L RAJMD QUBIRS&ET SjausFy CHemauullaTCLngl FFFel aumGuiLld LenTLP&ES eusFSenwLl
QUM VI EVITLD
Which of the statements given above is/are correct?
GG QEHMH & & LILILBHETET FahMiGerlev ergl/eremeu &iflwimersl/&iflwimeoremeu?
A) 2 and 3 only B) 1 only C) 1 and 3 only D) All of the above
2 lomMmith 3 L GILD 1 LI 1 Mm®MID 3 WL GILD GLOMSHE00TL. 6D60TSHSILD.
13) Which of the following things falls under Tenancy Reforms as an integral part Land
Reforms brought by Government of India after Indepandance?

Gl saULumHMET HFHHNSSIHGL KNar QBHHW SrEF QsTaT@abs BlOFISGSS
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Q& meiTemn & U 60T LIGHWITET GHHMS ETHHSHSSH 6L @ LD QLM MIEITET LD &F IS 6m6T & 6voTL15?
1. Abolition of Zamindari system
ezl wenm ey
2. Regulation of rent
UMLems SLBILILT®H
3. Ownership rights to tenants
GSHHMESTTTSHEFHETer 2 flenn 2 flemin g6
4. Redistribution of land among the landless poor
BlevMM FeNLNSEEHE S BV s L MILIKIGH C&FUlg 6
5. Security of tenure
LG 6fl &8 mev s B 60T LIMSISGMLIL]
Select the correct answer using the code given below:
ECY Qam@ssUUL@sTar GOluihisameart LwWeTURSEH Fiilwmear LGmevs C5THASH &&aLb:
A) 1, 2 and 5 only B) 2, 3 and S only
1,2 nmMILD 5 L (HILD 2,3 IoMmmID 5 10l
C) 1, 2 and 4 only D) All of the above

1,2 DmMILD 4 L HILD GLDM&H600TL. | 60)60TSH SILD

14) Which of the following programs focuses on agriculture and rural economy?

BDE&EHETEVID THSHS G LD, CaUETIT6IoTem6mW|LD SBTTOL QUTIHETTSTIHmS WD ML WLOTESS

Q& TevoTL SI?

A) People's Plan w&ase6r S LD

B) The Bombay Plan umbGu &L Lb
C) Gandhian Plan &mp®ws HLLLD

D) Visvesvaraya Plan  elleévGeugreuuiiwim SILL 1D

15) Consider the following statements:
LSletTeU(BLD FaM MIG6METE & 6 60T LY M1 6iT:
This commercial plant is equatorial in nature and needs above 25°C with a moist and
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humid climate and rainfall more than 200 cm.

@\HS euettlls yemev GUIMensUleL LWGSH W Crens MMILD FFFLILISLOITET &TeUHléney LoMmMI 200
QF.18 &G IH&LWmeT P LIQUTSleyL 6T 25 ° C &G G CHamaulILIGHMmSI.

With Referance to the above information Find out the correct answer?
CLGev AEMH&&LILL B eTer eflLrmkigefler 9 liuenLuiléy Frflwmer eflemLenw G5 Tey Q&FU1s?
A) Coconut B) Coffee C) Rubber D) Mustard

CHMmIGITUI SmL gLy &S

16) Difference between both M1, M2 .... ?

M1, M2 9,8\ W @ JeuorigM@&LD 2 6iTerm GeumIiLim@®) .... ?

A) Postal all deposits ojEehFevs SemeTSH S MEULIL|S6T

B) Post Office Savings Bank Savings Deposits
IEehFes CHFLALIL] aumIG ulleT GFLALIL] emaULIL| 86T

C) Time deposits of banks eRSUileT &HTevemeuLIL|&6T

D) Paper mone &m& gL Lieworld

17) Consider the following statements regarding Swiss challenge method:
gall6lv FeummeL (PemM QG TLTLIMET LN 6tTeu(BHLD Fa. M WIS M6 & 6160 UG 6IT:

1. It is a method of bidding, often used in public projects, in which an interested party
initiates a proposal for a contract or the bid for a project.

@85! @b g6V (PMMWMGSLD, )& QUBLLLMYID QUNTE HL LS LwWearLuRSSLILGS S, @ 56V
pFeuaeTer srultlery @G @UUbBSSSmETar (parawmblana omg % SILLSS msmer
JLGHMB G QG ITLIEIGHMITTEHET.

2. This method can be applied to projects that are taken up on a PPP basis only.

@bHS Wememw I& WLMMIL Serlwmy umseflly SgliuenLuilsv CuMmAsmeTeTLILG LD
HLLBSEHSHG GG LWaTUBGSS (LgULb.

Which of the statements given above is/are Incorrect?
CLCeL QAEHMTH & & LILILHETET S miG6rley Saummaranss C5I5?
A) 1 only B) 2 only C) Both 1 and 2 D) Neither 1 nor 2

1 LMD 2 0L (LD 1 MHMILD 2 @Ievor(hLd 1 6Levsl 2 @ TeooT(HLD G)6VED6V

18) About Agristack, which of the following statements are correct?
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S&iflevLms ummlw KeTeu@pld Fammisertley ergl &iflwimergi?

1. AgriStack will create a unified platform for farmers to provide them end to end

services across the agriculture food value chain.

Geuemmevor 2 6wrey LHLUILEF FRSTHN (puweausid aNleusmulsEpsE SLTDUID (WHL @MIS eueny

CFem6UGEMET QULPMISG 9 &flTVLITE (H 6 (H LIS eM6uoTHS &6TdH s 2 (H6U TS G LD.
2. Under the programme, each farmer will have a unique digital identification
@55 LSBT SLb, eeuQeurm@p eeusFmuils GLd &6olld Sieunmeor 1.8 L60 ML WITETLD &L &G

3. Access to formal credit, Improved crop insurance products, Smooth mechanism for

marketing and price discovery are some of the benefits of Agristack.

(LN 6m M W T6OT &L60r QUMIS6V, CuLUBSSLILILL uufy sTULSLMS B LMIg6T,
FHMSLILDOSSISNGHHTET QLTanwmer aublenm WMHMIL eflémev SHeooTLMISH6L 6 Wemeu

31&1fl6rVLIT& S 60T F6V [560T60ILO & 6ITIT(SLD.
Select the correct answer from the codes given below:
SC Aam@ssLIULBG6reT GMuiG &efledlBh g rlwmer LUGamans C5THAS M &&e]LD:
A) 1 and 2 only B) 2 and 3 only
1 MHMID 2 WL GO 2 lomMilh 3 ()LD
C) 1 and 3 only D) All of the above

1 MHMID 3 WL GILWD GGV 2_6ITEIT 3|6M60TS SILD

19) Which of the following are part of transfer payments?

LS etreu(peusoreumnileL 6T LIFILMMHM Q& m[H LI 60T6eY S 6rfledr 6(h LIE S WITEGLh?
1. Remittances received by people residing in India

@BSWTeailey UG &G 108 & 6T QLI MILD LIGUoTLD

2. Imported Petro-Chemical products.

@M&EGLS QFWIWLILLL QULGTTeSW @ F&FTu6orl GLITJHL &6T.

3. Grants from multilateral institutions.

LIe0TeuT T () [B] Ml 6L 60T Ml & 611 60T L0 ITeuT] W M1 & 61T,

Select the answer from the code given below:
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BC QsmhHHsLUULB 6T GMUTL I BHS LSHemeus G5 HA S M &8 LD:
A) 1 and 3 only B) 3 only C) 1 and 2 only D) 1 only

1 MmmID 3 L GID 3L (Wb 1 MmmID 2 1L (BID 1 LG

20) Examine the statements about Surface tension :

Uyl @ueellens LmMIW FaM Mm% enend &e6ueoll?

Statement 1: In plants, water molecules rise up due to surface tension.

Fammil; sreurnkiseafley B GG MIUS M (S8 &TFeuuTlomeor eflems.

Statement 2: The amount of force acting per unitlength, on the surface of a liquid .
Faml 2- BlFeuniserfledr oLILUTULN6T erev@ BamsHM©E& G5HTEH QFWaLIHLD eflemsCul
uyly@ e eflens.

Statement 3: Surface tension is a characteristic of liquids and gases.

Sammi 3: LFLIL @) (WeSlen& 6T6dT LIS ) TeUMIS6T LOMMILD 6uITW| &8 6rfleor LIGuoTL].

A) 1, 2 correct B) 1, 3 correct C) 2, 3 correct D) 1, 2, 3 correct
Fammi 1, 2 &ifl Famml 1, 3 &ifl Famml 2, 3 &ifl Fammi 1,2, 3 &ifl

21) Match the following :-

a) Linear expansion 1) Change in volume

b) Superficial expansion 2) Hot body to cold body
c) Cubical expansion 3) 1.38 X 10-23 JK-1

d) Heat transformation 4) Change in length

e) Boltzmann constant 5) Change in area

QUTB S SI5.

a) BeiT Qeuliu eflifley 1) LB LO6DTl6L LDMMHMLD

b) LUy Qeuliueifley 2) @G Lmeor QUITBerfleS(BH S (& 6rfliT&& W mesT Q\LIm(H 6T
¢) U@L Qeuliu eflifley 3) 1.38 x 10-23 JK-1

d) QeuliL S1LMMEV LITaU6L 4) Heg 6L LDMMHMLD

e) GUmeLL6eruGLoetr Lommiledl  5) LFLISeL WmHmLD

abcde
A 41235
B 12345
0 54321
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D 45123

22) Match the following :-

a) Magnetite 1) Magnetic lines

b) Tiny pivoted magnet 2) Natural magnet

c) Cobalt 3) Compass box

d) Closed Curves 4) Ferro Magnetic Materials

e) Bismuth 5) Diamagnetic materials

QUTBHS SI5.

a) GO & euTemL L 1) &snHg allen &8 Casm(H &6l

b) @@ P M HYNIID HSAHSL  2) QUbHNSES SMHSLD

C) GamUmeLL 3) &MHS 268G LI QUILLY

d) euemerLIyLIL|S6iT 4)sUTCTT SMTHSLI QLITIH6ITS 6T
e) Nerung 5) WM &MH& LI G\LIIT(IH TS 6T

abcde
AN23415
B 43512
045312
D)23514

23) Choose the correct option :
S & & euTLeuM M6 Fflwmerenss CHTHASMH
1. The lines representing the electric field are called Electric lines of force.

6T V& mSB S GGG CaHMTH & 6T Ll6tTell 60585 C8 TH & 6IT.

2. The electric lines of force are straight or curved paths along which a unit positive
charge tends to move in the electric field
et em &8s CHITH &6 (6 TV GBI LWleTemmL L b LSl6TL{6uLD 6iTMI6L H&T WMHUBLD B emaullev

suenWLUILIGLD CHT {6V6VSI uemETE S CHTHI&ETTESLD.

3. These are imaginary lines.

@ emeu (1 HMLIc6TS C&IT(H & 6T

4. The strength of an electric field is represented by how close the field lines are to one
another

@ &CHETH Seller QiBH &8 LWE60TL s B 6T auedlemnnenlsd &l @ELD.
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A) 1,2correct B) 1,3,4 correct C) 2,3,4 correct D) All correct
1.2 &Fifl 1,34 &1l 2,34 &1fl IlemeTS Sl Fifl

24) Assertion A : It is safe to stay inside vehicles, during lightning and thunderstorms.
Sammi A: LS60TEOT6L LOM MILD @)19.WJL-60T Salq L LDEMLOUSI 60T LIS 6L T8 60T B & (615 61T @) (HLILI S5l

UMSISMULITETS.

Reason R :The vehicle’s metal surface acts as a shield and protects usfrom the electric
field generated by the storm.

SITI6uuTLD R: 6uITES 60T IS 6rfl60T 2_Goumas LI LITLIL Blemeuulletr SH\LILemMWTSHEF Q&FWeLH S mS.

A) A & R correct B) A incorrect R correct
Fam &ifl, sryevorid &ifl FaM HaUm, Syewrid &ifl
C) A correct , R incorrect D) A & R incorrect

Tl &Fifl, HTFevord Seum MM SaUMI, SHITT6OOTLD &He6uUm

25) Arrange the velocity of sound, based on the speed in different media.
@6dSlWImeTsl LIsLGaUMI 2erL_& MG 6rflev Liwenl1& @b Geaussh g LILemLullél 91860 BlensFCousgemns
auflensliLB S5l 6.
A) VSolid > VLiquid > VGas B) V Solid < VLiquid < V Gas

V&L > V&Egel > Vealmuy VHL <VHgel <V aimy
C) VLiquid > Vsolid > VGas D) V Gas > VLiquid > V Solid

V&rgeal > VEL > Veamy Vearmy >V &re >VeL

26) Examine the incorrect statements :

Isotopes uses
A) P32 Increase the productivity of crops
B) Na24 Effective functioning of heart
C) Fe59 Treatment of Anemia
D) Aulo8 Treatment of Skin disease
S6UMITET @) emevoTenlLS C5IT6Y Q&FLI

S flLss BCFTCLITLIL&ET LI 60T S5 61T

A) P32 Ly 2 musSs SH &Ky

B) Na24 OSWHMS FTMH QFWGILIL 606USS
C) Fe59 7% 5CFTens: F&R &eanaFulley

D) Aul9o8 Cx 6L GBI FNHFens
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27) Find the incorrect conditions for total internal reflection :

wWww 318 aFQrmeflILNMH & meT B]LIb S 6m60TS EbB6T G\LITIHIH S MTHNSHE &TUuTs:.

A) Light must travel from denser medium to rarer medium

epeflwmeTgl L TIG 20155560 BHEl, SILT Gmmaer_S&HS5HMEGE QFevev Gauevor(h L.

B) The angle of incidence inside the denser medium must be greater than that of the critical
angle.

SLTUG 2a1_& 5560 LI{HCHTerorSH 60T 10 HLIL| LoMMIBlenevs GHMeotTdHemnS il SF&HINMS @) (HEHSH
Gouevor(h)LD.

C) Light must travel from rarer medium to denser medium

eflLMeTSl 9L FT&Genm 2oL & 5T 60 (BH S, LTS 26TL_HEH MG QF606v Galsuor(HLD.

D) None
61516 Sl6vemey

28) Find the incorrect statement.

SeuMTeT amnleners CsHTey Q&FUIs.

A) This process of breaking up of a heavier nucleus into two smaller nuclei with the release
of a large amount of energy and a few neutrons is called 'Nuclear fission'.

Serinmeor 9 soiefler 2 1 &b LaTamm @reor(h Flmi 2 [ &([HEHE6T TS Inmmiln CLUMS H 8 SpMmeviL 65T
Blw,lgrerser QeleflGwmmliLI(hLD &6 ' emis8 @ LileTea)" ereor LD,

B) The average energy released in each fission process is about 3.2 x 10-11 J.

el eum@m LNemellH@&Lh 3.2 x10-11) emay Frmeil Summey QeuaflwmSmst.

C) The energy can be produced when two lighter nuclei combine to form a heavier nucleus.
This phenomenon is known as Nuclear fusion.

& @) CeVFTET @) (H 3| 2 |G (HE56IT ©)6M600T [5G &60TLOITE0N 3600 8585 (HENlem 6T 2-(H6UTEHG LD Bl&LDe
9|60 85(H @)60)600T6Y 6T6oTLILI(HLD.

D) The average energy released in each fusion reaction is about 3.84 x 10 -11J.

R6ICAITIH S|eIGE(IH @) 6metorallletr GLIMSILD Qelaflm@id Fymeifl aummey 3.814 x 10-11)

29) Consider the following statements
LetTeu(pLh M miGerflemeT &(Hg8:

1. In somatic reproduction, new shoots arise from somatic cells in any part of the plant.

2 LV @QTUQLBESESH6V LUHW @\ 6ThHSHMeuTmG6T, STeUrsHer gCaHmInD @b LUTHESH6 2 6Tem
2 L6 Q&F6L& 61160160 (15 1H S GF5ITedT.mI SR 60T M 6OT.
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2. A shoot arises from any part of a plant like a root, stem, leaf or bud and grows as an

individual plant.

STeUTSH6v 2 6Tem Gaulf, H6voT(h), M6V VLGl QLMLB (WPSVTaT FCHID @F 2 MLILNeOIHH S
@ eMhSmeurlh C5meiTn) 3l &60l5 5 TeUTIONS 6UeTTH M.

3. As the physical reproduction takes place only by mitosis, the young plants look

similar to the mother plants.

2 L6V @6TL QLB&SLD HEOLG L MU 6 (G6TmTL LGLIL (ML LT&F6v) LG 660G LI M6 TeV
@\ 6N H S MeU T MG 6IT, HITUIS SITeUTEIGemeTL GLIMeTCMm & Tevor LI LI(H G 66T M 60T.

4. During this type of reproduction, reproductive cells (gametes) do not fuse.

@eueuemns @ 6eUTLIQL(HE LD HeL QLMD CLIMTG LITeS6ur Q& 6086l (@) 60156 & 6L & 6IT) () 60)600T6U H) 6V 6MI6V.
Find the correct ones among the above statements.

CLMm&6eoTL. Fammiserfley &Fiflwmeoreumnemeor & MeuoTs:

A) 1 only B) 2 and 4 only C) 1 and 3 only D) All of the above

1 L (LD 2 MmmID 4 oL (bILD 1 MHmILD 3 o (BILD GLDMSHETITL | 60)60TS SILD

30) Match the following
List I List II
a. Air Pollination — 1. Endophyly
b. For pollination by insects — 2. Anemophily
c. For pollination by water - 3. zoophily
d. Animal pollination — 4. Hydrophily
QuTB5 515
UL 1guiev | ULCigwev 1l
a. HTMHMIET eLN6VLD HOLQLMILD 0&THSHFCFTE M 1. eT6vOT L GLO M L9 601
b. LEFF SHET cPEULD HOLOLIMILD D& THSFCFTHMSEH S 2. gjerflGoms L9160
c. 16T e euLh HEMLQLIMID &ETHSFCFTHMEE S 3. G969
d. efleukIEG & 6T epeud HEMLQLUMIWD ol N&ETHSFCFTHMSE 4. L CrmsLied
a b c d

2
4
4
1

31) Find the wrong statement

B G 600TL. T MISG6Tl6L &eumTeTeuMHenme &ITeooTS :
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1. The process of fertilization takes place in the seminiferous tubules.
b5 evIeauUTs S BlSGhalTearg QFblallupav G seafle HaLQUMSH M.
2. Sertoli cells provide nutrients for spermatogenesis.
QFTCLMeS QF6LG6T lllh & 2 (HeUuMSHESH MG G 606U LITEIT 2 600Tal, L L &ema 26118 6 66T m 6or.
3. Leydig cells secrete testosterone.
65198 QF6LE6T QILEVGLITEVICITTEN60TE & I8 65 60T 1) 60T.
4. Acrosomes are absent in sperm cells.
&CITCHFMD aflh G QFeu&erflev @ euemev.
A) 1 only B) 2 and 4 only C) 4 only D) All of the above
1 L (LD 2 MMIW 4 L (LD 4 LB GLDM&H600TL 3|60 60T SILD
32) Match the following
a. Menstrual phase - 1. decrease in progesterone and estrogen levels
b. Follicular phase - 2. increase in FSH and estrogen

c. Ovulation phas - 3. increase of LH

d. Luteal phase - 4. LH and FSH decrease

QUITBHS SIS

a. LnmgedlLmul mlemev - 1. HCImMQQeLY[JTedr oM MILDFFeNVL G ITR60T I 61T6Y (&6MM &6V
b. LME8 &G 6V ITIT Hlem6v - 2. FSH M mib Fevl_Crmeet S\ &KL

c. ojevorLLb NG Blemev - 3. LH -60T 2_&&F mlemeu

d. suTL19.Web Blemeu - 4. LH ommIb FSH &6emm & 6L

1
3
1
4

33) Findout the wrong statement/s?

BLSGETL SammISGeflel FeummeTeumenm & evorL &

1. 28th May is celebrated as Menstrual Hygiene Day

G 28 9Llb CHH LMSMILTUI &HHTSTT HTETTEHS Q&TeTLTLUILGS maI

2. The Menstrual Hygiene Program was launched in 2012 by the Ministry of Health
SEMTSTY S| D EF TS STV 2012 1D 34,600T(H LrgedlLimul SEMSMTIS S LLb

ANWPEILBHSSILLLSI
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3. UNICEF in Tamil Nadu has provided affordable incinerators for burning nappies in
schools.

SOILDBTLLG60 Wl Fs L 9emwliumears Letemlgerflev BTG eorsemer erflLILIGS M & meor 0edley 6Sl6mev
6T W, 19.8560V6IT 6L LD M1 G\ W UL 6iTET S5,

A) 1 only B) 2 only C) 3 only D) All of the above

1 L GIWD 2 LGWb 3 LGLD GLOMGHE00TL. 3{60I60TSHSILD

34) Assertion (A) : The combustion of components of LPG with oxygen produces heat
and smoke.
Fmm (A) : LPG 67 UGHUQUNGBETHET &HEFRCaTTH CFIHSH eafleusmey QeuliL@oL,
G E&aUMeme6uLLD 2_600TLITE) 65T M 6OT.
Reason (R): LPG is a mixture of hydrocarbons such as butane propylene and propane.
s&mgesrtb  (R): LPG  ereorug LGrmUGuedr. WKwlGLer wmmith UepmuueSeor GumesTm
QML CIMTSTTLIET 6UTw & & 6rfleiT &6v6meu W mESLD.
A) Both (A) and (R) are correct and (R) is the correct interpretation of (A).

(A) LD (R) @ retor(pd sFiflulmesremel LoMHMILD (R) 6TedTLIG! (A) @)6T &Fiflulment eleng:&Lnm@LDh
B) Both (A) and (R) are correct but (R) is not a correct explanation of (A).

(A) LDMHMILD (R) @ TesoT(MLD S IflUITeuTem el 24,60Tm6L (R) 6TadTLIG! (A) @ 60T Fiflwiment eflemgssLnevey
C) (A) is correct but (R) is incorrect

(A) FiflWmestgl 24,60TTev (R) &6)MTETS
D) (A) is incorrect but (R) is correct

(A) HUMTETSI 2L,60TM6V (R) FHlWLIMeTS
35) Match the following

List I (acids) List II (pH value)

a. Acid in stomach (stomach) - 1. 4.5
b. Fermented milk
c. Human saliva

d. Coffee

LLIguwev | (v eiT) UL qwev 1l (pH LSLILY)
a) euuiiMmnilev (@ emyLiemL) 2 etem jLdleul -1. 45

b) Yerflg s LimeéL -2.1

¢) weoflgevfler 2 18 EBT

d) smalq
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B) 2 1 3
C) 3 2 4 1
D) 1 2 3 4
36) Which chemical is added in washing machines to prevent corrosion?
Fouemeu @WHSH TMISG6M 6L LI FHULITON LUMEISTES 6ThHS CeuB) LIQLITIH6T
CFIHSELILGTHMS ?
A) Sodium silicate B) Sodium Perborate
GFmQuh PedHCsL GFMIQWID QUFCUTCTL
C) Sodium Sulphate D) Potassium Perborate

Gamquih FeLGLIL QUITLLISAWD QuCUTCrL

37) Which of the following is/are saprotrophs?
L9l 66T61 (1H 6 60TEU M NI 6V 6T S LOL (S 6v00T6UOT ?
1. Fungi 2. Virus 3. Bacteria 4. Algae
LLEHEm & EMAUTENV umseflum ume

Select the correct answer using the codes given below:
GG AamTO&&LIULB 6T GMuiGsanerl LWaTU® S S Frlwmer LGlemevs C5THG S H & & ey Lh:
A) 1 only B) 1 and 3 only C) 2, 3 and 4 only D) 1, 3 and 4 only

1 L (HLb 1 lmmILD 3 1L HIGLD 2,3 I0Mmmid 4 101 HIGLD 1,3 lnmmiLd 4 L HIGLD

38) Assertion (A ) : Abscisic acid is known as 'Stress hormone'.

gahm (A) :IURFS Ifleuid '@ MISS&Blemev T GLOTEIT 6T60T O eMLp&ESLILIGS M SI.

Reason (R) : Abscisic acid is a growth suppressor that regulates shedding and
dormancy.

g&myevorid (R) : LA S ufleud 2 HTSH6L LOMMID 2. MES Hlamevenll RWHBIGUMSSIWD euemTiEeR
IIL&EH 941D,

A) Both (A) and (R) are correct and (R) is the correct interpretation of (A)

(A) LDMMILD (R) @ TesoT(HLD & iflwimesTemey nMmMILD (R) eTedTLIG! (A) @60t SFIfluimeot eMlemd: & nm@GLD.

B) Both (A) and (R) are correct but (R) is not a correct explanation of (A)

(A) LnMMILD (R) @ TeooT(HLD FIflWLITeTemal 2u,60TT6L (R) 6TedTLIGI (A) @\ 60T Fiflwiment aflemes s Lne606v.

C) (A) is correct but (R) is incorrect.

(A) FflWmeoTsl 91,6016V (R) HEUMTETS.

D) (A) is incorrect but (R) is correct.

(A) BEUMTETSI 21,6076V (R) FIlUIMeTS.

39) Assertion (A) : 60% of the human brain consists of fat.

Fammi (A) : 060l epemeTudlesT 60% LGS Q& MIQLILITEVITEOTSI.
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Reason (R): Essential fatty acids responsible for brain integration and function are
found in fish, green vegetables, almonds, Walnuts can be obtained through food.
&mTyewrih  (R): epememenll eTMlenemord @Gl WMMILD QFWLGWL SMSIEES  &ITT6UTLOITeT
5B WMeuFPIWILDTer Q& MO LIL] | LS6UMEISET LS60T, LIFeMESMILSMIG6T LIMSITLD,
UMZlenn Q&ML 2 6v0T6l60r eLNeVELD QLM (LNLGULD.
A) Both (A) and (R) are correct and (R) is the correct interpretation of (A).

(A) LHMID (R) @etor(hLd Fiflulmeremal LoMHMILD (R) 6TedTLIG! (A) @ 6T Fiflulmet edlemg:&Lnm@LD.
B) Both (A) and (R) are correct but (R) is not a correct explanation of (A).

(A) LM MILD (R) @ TetoT(h LD FIlUIMeTem6l 60TV (R) 6T6dTLIG (A) @ 60T Fiflwimeor el6ma:&Ln6ev6v.
C) (A) is correct but (R) is incorrect.

(A) FflWmeTas! OL60TMev (R) &6UMITETS.
D) (A) is incorrect but (R) is correct.

(A) HOUMTETSE SL60TTeV (R) FflUMesTSl.

40) Which of the following is correct regarding Union territories and Amendment?

1) Lakshadweep - 7th amendment 1956

2) Diu Daman - 10th amendment 1961

3) Chandigarh - 18th amendment 1966

4) Dadra and Nagar haveli - 12th amendment 1962

wenflwetr LNTCHFMmIGET WMHMID TFWevenLiL] SHSSD QASTLIUMS LeireuHeusoreummley ers

Frflwmers?

1. wl&s556 - 7Teus B(HS S 1956

2. 19, L ITLOGOT - 106u8 H(HBSHSLD 1961

3. F6UOTLY. &[] - 186ugI H(HS SO 1966

4. HTSTT LMMILD ST amGeued - 126u8 H(HSSLD 1962

A)1 and 2 is true B) 1 and 3 is true C) 3 and 4 is true D) 2 and 4 is true
1 mmid 2 &if 1 1mmin 3 &ifl 3 InMmmild 4 &ifl 2 InMmoILd 4 &Fifl

41) From which among the following constitution, the language of the Preamble is
taken ?
edreu(plh 6THe T FWeven I NS BHS! (WHa emnTuiler QLM TGS & LILILLSI?
A) America B) Canada C) French D) Australia
YAl ¥: SEOTLIT Noeha 2L6VGH Credluim

42) Which of the following Fundamental Rights can be enjoyed without any restrictions
imposed by the State?
KeTeu@pld 6THhs gLiLenL 2 [flemnganeT IFT aFIGHILLL SLOUUTHSET G 606VITIO6

SwiLeN& s (LguwLb?
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1. Right to move the courts for issuance of writs

BB LICLITTEm6U0TSH 60 6T QULDMIG IS DTS BHINaTMES S HTH6USME T 2 [flemln

2. Protection against forced or bonded labour

SLLITW 3{6veugl LNemeoord Q& TLSIGUITEITIT S @58 (S 6T [T T6uT LIMSISTLIL]

3. Prohibition of employment of children under 14 years in hazardous industries
umusymar QAgmThlagseafley 14 UWHEGLULL GLPHMSSHMET Couemaus S DTS5SI
0L Q&FUISH6L

Choose the correct matches from the codes given below:

SC QsmHssUULBHarer GMui@ sefley @ bHg FFlwmeT QUITHSS m &eamens G517 HOSH & &ea]Lh:
A) 1, 2 only B) 2, 3 only C) 1 only D) 1, 3 only

1,2 DL (@b 2,3 (b 1 L (LD 1,3 L@

43) Which of the following Articles of the Constitution has a bearing on Tribal Rights?
TR WevennLiNeir GlhsasevorL LNfleymserflev etz LpmiGLuSlerler 2 flemwnser 85 SMTHEHE5MS
Q& mevor(h 6Terma?
1. Article 14 2. Article 15 3. Article 16 4. Article 30
NS 14 NS 15 %) 16 %) 30
Select the correct answer using the codes below:
ECLp 2 6itemr GMIUTHIGHemeLI LWeTL® &S Frflwumer LS emevs C5HTHA S M &6 LD:
A) 1, 3, 4 only B) 2, 3 only C) 1, 4 only D) All of the above

1,3, 4 (D 2,3 0L (LD 1,4 10 (lb GLDM & 600TL 2|6M60TSH HILN

44) Which of the following according to Article 368 can be amended by a simple
majority of the two houses of Parliament?

sl ley 3686t LI LAeTeu(BLeUMNMIEL 6Tems HITLTEBLOETMS BT @B jemeuserfledr ererflw
QU(BLDLITETEmOW ML B (H5S (LPLL|Lh?

1. Admission or establishment of new states

S W ommleunkigerfler CFI&Heama I 6V6V S Bl M6y S 60

2. Elections to Parliament and State Legislatures

LIMTIJITE@BLO60TMLD LoMMILD LOTIBI6V &L L LOG6OT M MG &5 €15 & & TEUT G878 608 6T

3. Use of official languages.

B &yl Feu Quomslgerfler LiwerLIT®.

4. Fundamental Rights

g iLenL 2 [flemngelr

A) 1 only B) 1, 2, 3 only C) 1, 3 only D) 1, 2 only

1 L (LD 1,2, 3 LD 1,3 LG 1,2 LG

45) Which of the following are Non-federal features of India?
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LSl edreu (B eucoTeu MM 6L @) b G WMl 6T Fal LTL & 3|6V6VMTSH S|DFHEIGET WITem6eu?
1. Unequal distribution of seats in Rajya sabha to states
TrRwWEFLImeileL OMFBleuREI&EH& S FWleeum @ L L LUBISEH
2. Single constitution
emnenm SFFwevenoLiLy
3. Supremacy of the constitution
TFWeveno LI eir GLEVTH & &LD
4. Independent judiciary
&sheTwnrer H&5semm
A) 1, 2 only B) 2, 3 only C) 3, 4 only
1,2 DL (@b 2,3 (b 3,4 (LD

46) Interstate river water dispute is dealt under
LOMBleVRIS E6 &G @ 6L GwwimerT S BT LNTFFeanerser aihg eflGluiler SLb emaswWmeTILIGSH MmSI?
A) Article 264 B) Article 265 C) Article 262 D) Article 263

) 264 il S1265 il B)262 6l $)263

47) Which of the following are constituted to study centre-state relations?

LSl etTeu (B eucoTUM N6V TSI L0GH W -L0MBleV 2 My & emeTll LHLILM6E QFWIW 3emngasLILL L &I?

1. Sarkaria commission

syssmlum &Ll eg.6or

2. Punchhi commission

L& &L8aq6tT

3.Venkatachaliah commission

QUMIG L ITEFMEVW T &LA61q.60T

4. Rajmannar committee

TTEZLOEITET T &

5.Verma committee

QUJLOIT (G0

A) 1, 2, 3 only B) 2, 3, 4 only C) 1, 2, 4 only D) 1, 2, 5 only
1,2, 3 (LD 2,3, 40 (b 1,2, 4 0 (D 1,2, 5 0L (LD

48) Select the correct statement from the following. (Lokpal)

LSl edreu (B eueoreu MM 68l (516 & Flwmenr MG em&enws CHTHOSH H&HaLD. (C6UTE LML)
A) The Lokpal consists of a Chairman and 8 members.

GeUITELIMGEY (Ih SHemevald IDMmMID 8 2 MILIL6TT&Hem6Ts G & MeooT(H6TemS.

B) Their tenure is 6 years or upto 65 years.

@eujsefler Ligalgameuld 6 oL600T(H &6 {eVeV S 65 3,600T(H G6T CUEMTT .
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C) Their salary and grades will be in par with that of the Chief Election Commissioner of
India.

@eujseafledr FlUeTld MM LIGBleneuseT @hEHIL Hneuenn CHIH6) Len6oT(HEE &) 6m6uTUlMss
QHSGSLD.

D) These members should have 15 years of experience in anti-corruption policy, anti-bribery,
public administration justice etc.

@bS 2 MILILNOTISHET 26TL06VIEE TH T Q& TaTeNS, VEHE LEILIL], QUME Blieuns BS CUmeTmalmnilev
15 24,600T(H &6IT S sILIAILD QUMM S Gelevor(hLD.

49) What is the tenure of the Chairman and members of the Central Vigilance
Commission?
LSHW o28mpel SHILIL] SHeUOTHTEUuILIL] SLeMm6euoTWSH60r HemeveuT WMMID 2 miLiSeor s erleor
LG 6fl &8 ITeULD 6T60TEOT?
A) 4 years (or) 62 years B) 4 years (or) 65 years

4 91,600T(H SH6IT (6LEVLSI) 62 2,600T(H & 6T 4 91,600T(H &6 (2]6L6VEI) 65 2,600T(H & 6T
C) 5 years (or) 62 years D) 5 years (or) 65 years

5 91,600T(H H6IT (2]6V6VSI) 62 21,6007 (H & 6T 5 91,600T(H H6IT (2]6V6VGI) 65 2,600T(H & 6T

50) Under which Judgement SC declared that the President shall make appointment
of Chief Election Commissioner and Election Commissioners on the advice of 3-
member committee.
hs5s5 GTLLNeT G 3 CUT Q&mevorL G peller oLCeumFemeorulietr CGUIfleL VeTTH LS Hemevenng
CHTH6L 3L,6M6UUTILIT LoMMILD CHTEH 6V II6M6TTILITSHEMET  [BIWLD6UTID QEF WU eTetTm 2 &F& S Ln6irmLb
NS5 51
A) K. S. Puttaswamy case B) M.C. Mehta case

K. S. ylLemd apss M.C. Cn&5T aIlp& S
C) Lily Thomas case D) Anoop Baranwall case

6916060 HITLNEN QILPES LI LIT6TAUIT6 QUPE S

51) Match the following.
Significance - Committee
a. Review the working of the Constitution - 1. Narasimhan Committee
b. Fundamental Duties - 2. L. M. Singhvi Commaittee
c. Creamy Layer for OBC - 3. Justice Verma Committee
d.Banking Reforms - 4. Venkatachaliah Committee
e. Constitutional Recognition of Panchayat Raj - 5. Ram Nandan Committee
L9l 65T6U (IH 6 60T6U MEMM LI QILIM(H &S 6YLD.
WsH WSS &Sw
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a. TR Wevem LI QFWELITL 6L LG LILIMI6Y QFWWSH6L - 1. HIEFIDLO6T & W

b. 3G LILIEOL & &L MO S 6T - 2. eTeverb Fmiedl G

c. OBC & meor & ifLdl Geuwl T (Creamy Layer) - 3. gevIq6nV auFLOM Sl LG

d. U E17 S ([H 5 MG 6T - 4.QEUMBIGLITFMEUWIT &

e. LUEHFTWS S JTRESHTr SFRWevenoLIL] SBSEHT - 5. [JITLD 5155 60T (&
abcde

A)41352

B)42153

C)35214

D)43512

52) Which provision states that a non- member of the Legislative Assembly must
become a member within six months of assuming office as a minister?
FLLL Gurpemeuuiey 2 miliferpms @e6ieuns @UBeUl SEFITSEL UsHCWmmMm LM
LM MBS EHESE6T 2 MILILNeTyme Ceuesor(®ILD eTedTml 6T S NG Fo MFBHMSI?
A) Article 164(1) B) Article 164(1) C) Article 164(2) D) Article 164(4)

Nfley 164(1) Nfley 164(1) Nfley 164(2) Nfley 164(4)

53) The power to increase the number of judges in the Supreme Court of India is vested
with
QHHW 2 55 FHWaTMESH 6 BELGSGal6r erevoreoollGamsenl B&FlES WTHSEG SBSTFLD
2 _eiTenzI?
A) President of India B) Parliament

@hS W QeTTH LIS LIMFM@BLO6ITMLD
C) Chief Justice of India D) Law Commission

@BH W Hemevemln HHLIS FLL 3,6M600T WLILD

54) Consider the following statements:

LS 6tTeU(BLD FanM MG 6METE &6 60T LY M1 6iT:

1. The office of the secretary of state was created before the revolt of 1857.

@B WTalMHameT 3J& Q&FWeuy LGl 1857 gyl SL600T(H LT LS & (& (LN6IT 2 (Heums & LILIL L SI.

2. Secretary of State was the member of the British Cabinet and headed the Board of
Control in India.

uimeysF Fwevy Wflligey geowsFrameauiles 2 miilbleryns @@hE @b wmeller
SLOUUTL® eumfliug S 6T SHemeveuTTas: @ HHSTT.

3. The office of secretary of state was abolished in the Government of India Act, 1935.
1935 gulb 9600T(H @HBH W T&HEF FLLESHeTLIG @HHWT QEFweurmery L el BHELILLL S

GG Aam@ssLIULB6reT GMuiGs&ener LWeTU® S S Frlwmer LUGemevsd CHTHA S H & & ey LD:
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Select the correct answer using the codes given below:
A) 1 and 2 only B) 2 and 3 only

1 MmmID 2 oL GID 2 0Mmoi 3 I GlLb
C)1,2and3 D) None of the above

1,2 LDMHmILD 3 GLOM&H600TL 6TSHI 6Ll 6VEm 6V

55) Consider the events given below:

GG A&MTH &S LILLHETET [B1&LD6) & 6m6Ts: & 66l UMb &6iT:

1. Introduction of direct election.

GBS CEHTHML AN WPSLILIH S SIS 6.

2. Abolition of Board of Control

SLOUUTL® surfluib seneuliL]

3. Separate electorates for the women

QLICHITS: @5 & (& 5601156 MG S & 6iT

4. Final set up of the Federal Court

Sl LTS BHW6eTms S 6r @ oM oemloLiL]

5. Vernacular Press Act

aulLrmy Qurl QFWSH S STeT &FLL LD

6. Submission of report by Simon Commission

MEFL060T &1016q.60T MIGens FLoTLILN G560

Arrange the event above in the correct chronological sequence:
CLOG6v 2 6iTelm Bl&Lhemeu EFiflwmenr &meveuflen&FLILIL 6 (LD MG 60108 &6 LD:
A) 1-2-3-4-5-6 B) 2-5-4-3-1-6 C) 2-5-1-6-3-4 D) 1-5-6-3-1-4

56) Which of the following provision require special majority of the Parliament along
with the ratification of states for their amendment:
SLh&s&aTLUMMIL THMEG BILTEBLTMSSH T FImLL GQLIUBLOLITETMIOWLD, LOITH6v s & erfleir
RLILS NI CHemeu:
1. Citizenship
GWilemo
2. Enlarging the Jurisdiction of the Supreme Court.
2 5B I06TMS B 6T B STY eurbenu eflfleyu® & SIS 6V.
3. Article 368
FJ55l 368
4. Official Language
LA Quom
5. Any of the list in Seventh Schedule
JMaUS S| L6uemevorudleL 2 6TeIm LILLg.LLI6L & 6iT
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6. Goods and Services Tax Council
FJ& G LHMID CFemeu eulfl &eyeiTEl6L
Select the Correct answer from the codes given below:
GG Aam@ssLIULB6reT GMuiG &efledl B g Frlwmear LUGamans CTHASH &&eyLD:
A) 1, 2 and 4 only B) 3, 5 and 6 only
1,2 MM 4 L GO 3,5 l0MMID 6 L (LD
C) 1, 3, S and 6 only D) 2, 3, 5 and 6 only
1,3, 5 l0MMID 6 DL HILD 2,3, 5 mmid 6 L HILD

57) Which among the following provisions of the Constitution came into force on the
date of adoption of the Constitution?

TR Wevenolifetr ereupld B Smefley aTs TFWevenDLicn! gHMISQSTeoTL. G5 EHuldlev
BEOLNMDEES eUbHSSI?

1. Superintendence, direction and control of elections to be vested in the Election
Commission of India.

CxIsusmeT CLMUTTmaWG S, OFMLULGSSISOD MM SLGUUTH S weaneu @b W
G TS 6L I1,60600TW &G 60T QILITmILIL].

2. Proclamation of the National Emergency.

CsFW IjeusrsmeuLll LNFsLerLD.

3. Citizenship at the commencement of the Constitution.
TR Weven LI QFTLES ST 6V G flemio.

4. There shall be a Council of Ministers with the Prime Minister at the head to aid and
advise the President.

GUYWLTHSHMVEU(IHES 256 aUSDGID ILCUTFMET UPKBIGMSNGSGWL LNTSIDemTEH HeMm6eVelyTs:d
QS ITEUITL. S|6MINEFFTeM6 6260TMI @) (S5 H6V Geuevor(HLD.

Select the correct answer using the code given below:
EC Aam@s&&LIULBG 6T GMIuflamL Ll LweaTU® S S Frlwmer LUGlenevsd CHTHASH & &6ayLD:
A)1, 3 and 4 only B)1, 2 and 4 only
1,3 nHmMILD 4 L (HLD 1,2 DHmILD 4 (D
C)1 and 3 only D) 2, 3 and 4 only

1 MHMID 3 9WH W G Iesor(hLD 2,3 oMo 4 Il GILb

58) In the context of the term Republic, consider the following statements:

G WIE 6T6OTM UIMTTSH 608 Ul 6T 9j1gL1L1emLull6v, LN6etTeuBLD 31Nl 60 & 86068 856U 6011 W MBI S 6iT:
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1. It means that the Head of the State is always elected.
@S 6T QUITIH6T ST F 6T HemevauJ CHTHASH&HLILILL 2 mILILS 6Ty L 6.
2. A country having a parliamentary form of government is always a republic.
LMITEBL06TM 4L (nemmenids Q& meooTL [HITH TLICLIMSID GLWTCHF 9L GLD.
3. It means that the people are politically sovereign.
08 56T S TFW6L ©) 60 MW ITEIOTEnL 260 L LI 6T 6T,
4. It indicates absence of any privileged class.
THhs GOILLNLL euGLILNaT(H&SH G WD &6l Faulemns & enLWITs.
Which of the statements given above are correct?
GG Q&EMH&HLILIL B 6T Sabmiserflev ergl Fiflwmeorsi?
A)1 and 4 only B)1, 2 and 3 only
1 lMHMID 4 S W G Ievor(hLd 1,2 mmih 3 LG
C) 2 and 4 only D)1, 3 and 4 only
2 lomMilh 4 DL (LD 1,3 LmMiLh 4 DL ()LD

59) With reference to the Citizenship (Amendment) Act (CAA), 2019, consider the
following statements:
suWyilenwn (HBHSS) FLLID (CAA), 2019 U QUTMISHaenT, LN6TeU(BLD N5 6088 emeTd
&5 616071 WL MBI &5 61T:
1. Under the Act, migrants from all neighbouring countries are eligible for
citizenship of India.
QBs FLLSG 6T Blb, smarss ool BIGsalefGhsn GuewMlweaisear @bEw
SYWFlemns S 5&H U emLWeuTs 6.
2. It decreases the requirement of citizenship by naturalization to S5 years of
residence for the eligible migrants.
@8l 56 FHWITeT L{eubQAUWIHCHT(IHEES @)WV 8 S LW flemnulleir G5 emeuemill 5 2, 600T(H & 6ITITSH
SOMERMII.
3. The Act does not apply to areas included in the Fifth Schedule of the
Constitution.
SITF WevennILN6T RHS MU S| Leaucneoruiley CEFF&H&ELILL B 6T LIGH &HEDS S @bHs FLLLD
QUTIBHSTSI.
Which of the statements given above is/are correct?
GG Q&EMH&HLILIL B 6T Sammigerflev ergl Fiflumergl /eTemeu &Fiflwmeoremneu?
A) 1 and 2 only B) 2 only C) 2 and 3 only D) 1,2 and 3

1 wmmIDd 2 1B 2 0L (LD 2 oMmMith 3 DGl 1,2 LDMMILD 3

60) With reference to reservations in promotions in government jobs, consider
the following statements:

Page 25 of 77
https://t.me/ChinmayaTnpsc




CHINMAYA ACADEMY FOR CIVIL SERVICES

378 Cauemeusarfley LG 2 wWiFellel QL RHEHEH QASTLIUMS, LN6TeuhlD 2N & 6058 6m6Ts:
&5 616071 WL MBI &5 61T:
1. The Nagaraj case (2006) relates to the issue of reservations in promotions.
BISFTR PSS (2006) LGN 2 wWFeyseafley @ LegsSEM KTEFameaT QML LIT6TS.
2. The Supreme Court has upheld the application of creamy layer principle to members
of the Scheduled Caste/Scheduled Tribe communities in promotions.
ugel 2 wieyseey HHTTaILF / LPRIGLUiear ESEHHES LUTCV®DH auELiferifler (creamy
layer) GamLiumlenL 2 &5 BH6TMID 2 MIT QF W SI6TeTSl.
3. State is not bound to make reservations for SC/ST in the matter of promotions.
ugell 2.wiey eleaqusHev SC/ST LHflelerpsE QL 255GEMH 6uUPKIES GeueiTigwl &L LTwLh
I T&EE @) 6V6m6V.
4. A state has to collect quantifiable data showing backwardness of the class to provide
reservation in promotions to the SC/ST communities.
SC/ST csepsnsEpsEe Usel 2 wiaseaile QLRSHEER apns auEUler Nersn&w
Blemeven s SITLBILD |6mellL&onlqll STeYSHem6T 3{J& C&F&fl& s Geusvor()LD.
Which of the statements given above is/are correct?
GG Q&EMH&HLILIL B 6T Sammigerflev ergi/eTemeu &Fiflulmeorgl/& il meorem 6u?
A) 1 and 2 only B) 1, 2 and 3 only

1 mmID 2 LD 1,2 lnmmILD 3 1oL (HLd
C) 2, 3 and 4 only D)1,2,3and 4

2,3 loMMmID 4 DL (ILD 1,2, 3 loMmmID 4

61) With reference to cooperative societies, consider the following statements:
Sl HMeF FRIGHIGEHT QS TLTLIMS LN6TeU(BHLD Fah MG 06TE &6U6TS T 6L Q& T6Ts:

1. A Cooperative society is a voluntary association of persons.

Sl HMeY&F FhIGLD 6T6OTLIGI & 60T60 & 60 & WIT6UT 5L 6rfl60r ol LemloLIL] S1,GLD.

2. Cooperative societies are not driven by economic interests.

Sl H\M6Y FMIGMLIGET QLITHETITS T [56V60TSHETTY @)W &L G 6B euemev .

3. Cooperatives in all states in India are solely formed under the Co-operative Societies
Act, 1912

@ HHWmelley 2 6TeT JeMeTH S WOMBleVMHIGETINID 2 6TeT Fal(BHlM6ey BleMEUWBIGEHT 36060TSHSID
Sl (HMeY FHIGMKIGSET FLLLD, 1912 @) 60r SBLD 2 (H6uTs: &L LI (h) 6 60T M 6or

4. To form a cooperative society, at least ten persons are required.

Q@b Fal.(HMe] FHIGLD S|MNGES GMMHS S LIS S HLITSHET C&Heme.

Which of the statements given above is/are correct?

GG Q&EMH&HLILIL B 6T Sammigerflev ergi/eTemeu &Fiflulmeorgl/& il meoreneu?

A)1, 2 and 3 only B)1 and 4 only
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1,2 nmmiid 3 (D 1 MmmILD 4 1oL (Bl
C)1, 3 and 4 only D) 2, 3 and 4 only
1,3 IMmMILD 4 L (HID 2,3 mmih 4 LB

62) Consider the following statements, with regards to the legal provisions of contempt
of courts in India:
@Bswmelley BHIDGTHEIGmET JULBHLULUSHETOr FLL aG&H6T QFHTLIUMS LeTeu(hld
M) & 60 & 8 6M6TE 85616011 L M6 & 61T:
1. The Supreme Court has the power to punish for contempt of subordinate courts.
SLmlemev BB L0 60T EIS 06T 2]6ULD TG STV G600TI8 G0 JB&EMTD 2. &5 BHI06TMSHMES 2_6TeTsl.
2. A person obstructing the administration of justice is liable to civil contempt of court.
B9 BlTurssHmnHES @ 6L w m allanerells b HLIT Fallev HH)I06ITM D UDB)LILISHE 46T TEUITI.
3. Any criticism on the merits of a judicial order is a contempt of court.
BE 6T 2 57616 568 GMSS THSAUTE® allnfFarwid BHn6ETD SiunGHLILTGLD.
4. The phrase “contempt of court” is not defined in the Constitution of India.
'BH06TM UG 6T6dTM QFETHRAMITLT @HS W ST WevemnlolILN6L 6u6em T mId s LILIL 6Nl 6V6m6L.
Which of the statements given above is/are correct?
GG Q&EMH&HLILL B 6T Sammigerflev ergi/eTemeu &iflulmeoragl/& il meoremeu?
A)1, 2 and 4 only B) 2 and 4 only

1,2 nmmiLd 4 ()LD 2 IDMMILD 4 oL (HLD
C)1 and 4 only D) 1,2,3and 4

1 LMH®MILD 4 L (HILD 1,2, 3 loMmMmID 4

63) Consider the following statements with respect to the Tribunals Reforms Act,
2021:

SruumTwumsear SFrHmSSE LD, 2021 QsTLIUTS LHarau@Bld M &anssemn6rs
& 66071 W MBI & 61T:

1. It empowers Central Government to determine the terms and conditions of
services of the members of the tribunals.

Sruumwukisetfler 2 miliferiserfleor CFemeussefleor eSS (NEMMEET LOMMILD LIS 60)60T8560)61T
Srwnmellss @8 LHH W IIHES B &ML 6all&ESRms.

2. The Chairperson of the tribunals will be appointed by the Central Government
on the recommendation of Chief Justice of India.

2. 55 BHWLaTM Heomevenn BHUSUWIeaT uflbsiemguilesr Guflev  GIFLILImwmsgerflesr
HMELEUTSHEMET 0SS F W & BlWLd &G LD.

3. Any member of the tribunal can be removed by the central government on the

recommendation of Search-cum-Selection Committee.
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GaLev MM GCxIeys Guweler uflbsieogullesr GCuiflv BSFLUUTWSH6T 6THS
2 _milSeTenyub LSS W T8 [B&HSHEVITID.
Which of the statements given above is/are correct?
GG Q&BMH&SLILL B 6TT Sammigerflev ergi/etemeu &Fiflulmeoral/& il meoremeu?
A) 1 and 3 only B) 2 only C) 2 and 3 only D) 1,2 and 3
1 mmID 3 LD 2 10 (b 2 I0mmith 3 L (HLd 1,2 lDHmILD 3

64) This case resulted in the recognition of transgender persons as a third gender. The
Supreme Court instructed the government to treat them as socially and economically
backward. The Court also asked the government to expand reservations in education
and jobs for transgenders. The landmark case is:

QbHS UPEHT elleneTaurs G(HHEIMSSHET CNOTMTD UMeSlerons RGHF&ESILLLTT.
SUTHEMET Fens FHWMHLD, QUITIHETTSTT FHWMHa b LI60rsm G Wl T&HeTms &5 Ceueuor(hLb
ey 2855 [BHLaTML IIHEHS ANUMSHWS. HHHHOEHEFSHG &avell LMHMID
CoauemeuaumiLiGey @LegsSlear aflauMss GCeuctT(ld ereaTMID BHIDETMD THES
2 5576l L gl. @LD MLD6LEHE ULDE (S:

A) National Legal Services Authority Vs Union of India, 2014

CHAW FLL L1160l &H6T 2U,6m6tTeH G (L Vs @ HHUI ermliLD, 2014

B) Navtej Singh Johar Vs Union of India, 2018

HUGHR F\mI Gmamy Vs @& W sermluln, 2018

C) Vishakha and others Vs State of Rajasthan, 1997

allemsm Vs afl. Fmegeugmeor Lommleuid, 1997

D) Lily Thomas Vs Union of India, 2013

691660 HTLnEN Vs @G W spedTdlWILD, 2013

65) Which of the following are common features Harappan civilization with respect

to their religious practices?

anruur BrsK&ssS S 6r FloWw HenL (WNenm&6T LMW GLIMTSHI6UITEOT LI60TL| 6T eTemeu?
A) Worship of mother goddess and bull.

ST Qg UIeID InMMILD &HTemeT euldluim®.

B) The figure of pashupati shiva surrounded by animals

aleVBIGSEHETTEL GLELILLL L&KL Falefler 2 (pellb

C) Worship of peepal tree

278 7 aulflum®

D) All of the above.

GLG6V 2_6ITEIT 6M60TS SN,
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66) Who among the following rulers of Vijayanagara Empire constructed a large dam
across Tungabhadra River and a canal-cum-aqueduct several kilometres long from the
river to the capital city?

aNlgwpsrl CUITe 6T LeTeu@pld oL RwmeTFaeflel HIBSLSTT MM 6T &m&Cs e Quiflw
S| emeuuTemW LD, 1L,MM 68 ([BHS HeMeVHSHIT eUemIT LIV BCeUMLSLLIT HEmIN6ITET &MV Tem ULLD

SITELEUMTEMWIWLD &L 19U WITH?
A) Devaraya I B) Mallikarjuna C) Vira Vijaya D) Virupaksha

(DS CHAUTTUIT LNV ST eI 6nT IT oy elleguur AN (BLIMEnq T

67) Department -Purpose

E=AT0] 1)) - GBm&HsLd

1. Diwan-i-ariz Defence

B\ eumeir-@) - iflerv LUMSISmLL

2. Diwan-i-amir-ikohi Agriculture
Bleumeir-@)-L87-@ Caman efleu&mwid

3. Diwan-i-risalat State correspondence
Bleumeir-@)-flEFeums LOMHleL HLGHL CLIME S6UTS SI
4. Diwan-i-insha Religious matters

) 6U IT60T- @) - @) 60T IT - Fow ellaqulnkger

Which of the pairs given above are correctly matched?
CLGev QEMH&&LILIL (B 6Tem CRmigserfleL eTemeu FHWMTE QLUIMTIHS S LILIL (H6Temer?

A) 1 and 2 only B) 1, 3 and 4 only

1 LMHMID 2 WL GILWD 1,3 LnmMiLh 4 DL (LD
C) 2 and 3 only D)1,2,3and 4

2 lomMmith 3 L GILD 1,2, 3 loMmmib 4

68) Which of the following characterize/characterizes the religion of the Sangam
Period?

L9) 65T 61 (IH 6L 60T6U (D MI 61T &FMIS SIT6V LGS B 60T F\MLILNW6LL] / LIeooTL] 6TSI?
1. Subramaniya was the primary deity of the people.
108 & 6rfl60T (NS 60TEMLNG &L66er s SN Fwenlwl @UBHST.
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2. Vedic sacrifices were regularly performed by the common people.
Goug GeueTel&6iT &FITSITIF6UOT L0 & & EITIT6V HEUMITLO6V Q& LILWILILIL L 60T.
3. There was a complete absence of image worship.
2_Beu auSlLIM® SIMEeu @6VEVITIO6 B\ (HHS .
Select the correct answer using the code given below:
BC QsmHHsUULBG 6T GMIuTienL 1 LweaTu®MSS Fiflwmer LSHemevsd CHTHASH & LD:
A) 2 only B) 1 only C) 1 and 3 only D) 1,2 and 3
2 0L (b 1 LG 1 LmMID 3 LLGILD 1,2 MHmILD 3
69) Which of the following statements is incorrect with reference to the social
developments during the Gupta period?

GLUST &TuSH 6L gHLLL Fens aUemTTEF em W LG LILIMLWTSHS Q& mevor(®H G LD & & 600T L6u M MI6iT
SAUMITET T (DM 6TSI?

A) Many sub-castes emerged during this period.

@ &HHTVEL L STV LIGV S160)600TFTH &H6T GG MedTmleor.

B) The position of Shudras improved in this period.
@5H&HTVEH 6 GSH T TSH6r 6T Bleney GODLIL LS.

C) Women of higher Varna were given considerable freedom as compared to women of lower
Varnas.

sThbS LNifleneud smiHs QLTS EHL6r @LILGiemasullsy 2 Wi INflenauFsminhs 6 LIeuTsEnHs @
560011 FLOTET S-SHH TID GULPMHIGLILILL G,

D) The number of untouchables increased during this period.

@ &HHTVEL L STV FevorL 555 TSH 6186 60T 6T6o0Te001 185608 F &SG5S

70) With reference to Tolkappiyam, consider the following statements:
QzmeusTULAwD Lmmw KeTea(HLd M8 601885 6M6IT & 6w 6l UL I & 6iT:

1. Vellalar was the ruling class during the Sangam age.

FEIG STVE T 6L CeU6TITENT 4 @EHLD 6UT&SL0MS @) (HHS60TI.

2. Arasar were the agriculturalists during the Sangam age.

IITFFTEHET FHIG HMTVSB 6L afleuFmuilGeTa: @) ([HhS560TH.

3. Vanigar carried on trade and commerce during the Sangam age.
FRIS HTVE H 6L U6l 1& T 6U6vvI1& D LM MILD 6UMeTDT LIS em& GLOMG & ITEUOTLITIT.

Which of the statements given above is/are correct?

Page 30 of 77
https://t.me/ChinmayaTnpsc




CHINMAYA ACADEMY FOR CIVIL SERVICES

GG QAEMH & & LILILBHETET FahmiGerfle eTgl/eTemeu &iflwimenr g/ &iflWimeoremeu?
A) 1 only B) 3 only C) 2 and 3 only D)1,2and 3

1 LLGW0 3wL(LW 2 oMM 3 L (GIWD 1,2 LMHmILD 3

71) This Kingdom had trade relations with Roman Empire. Maduraikkanji written by
Mangudi Maruthanar describes the socio-economic conditions of this kingdom. This
kingdom was mentioned by Megasthenes in his book Indica wherein he refers that it

was ruled by a woman.

@hs @QUTFF WD Crmo @IrRsllgSIL 6T aleullss 2 M6y &5 enerTd 68 TeuoTLy.(HHS6T. LOMEIELY
LO@BSEUTTT TS W LDSINTSHESETEH T @\hHS @)\ TEF WS S 60T Feng-QLITIBHETITS T [H]60)6V60)L0 8 60 61T
aleurfl&ESHMmE. QL0 6V 60T16MV S6uTSI @) 600TL9.85IT 6T60TM HN6dI6L @\HS @ TTFSFIWLD 6@ (H G)LIGTOTEUT T6V
SLEMUILLLSM&HS GG 6Termiy.

Which of the following kingdoms best fits the description given above?

etreu(plb @TmEFWmSG6T6L 615l GG QSMTHGHLILLL elarhssHMmEG W& a0
QUITHSHSLOMTEOTSHI?

A) Cheras B) Pandyas C) Cholas D) Vakatakas

e yr- 1010 LIIT600T Lq UL &5 61T GFMLI&H6T QUMSHITL &IJ& 6T

72) Which of the following factors is/are responsible for the rise and growth of the
Gupta empire?

GLUSL CUTTHF 6T TR EF &GS eUETITEFES & (GLD &ITTEU0TLOITEOT &ITIJ600l 18 61T 6Temeu?
1. They could exploit the iron ores of Central India and South Bihar.
WSHW QBB W OO OFMHES HsTFlear QUDLS SIS S ameaTs &L (PIHSS!.
2. They took advantage of the silk trade with the Byzantine Empire.
EOLIFTEUOT LWL CLITT& 6T HemLQLIMM LILG euenilsgems Ll LIWeTLM S S & 68 TeuorLeoriy.
Select the correct answer using the code given below:
SC AaMTH&&LILULBG 6T MUl LweaTL®SS) Filwmer UG eamevsd G5 HASHH &S50 LD:
A) 1 only B) 2 only C) Both 1 and 2 D) Neither 1 nor 2

1 L (HLD 2 0L (Pl 1 MHMILD 2 @evor(hLd 1, 2 @revor(h LD @)6LEtIY
73) With reference to Mansabdari system under Mughals, consider the following

statements:

wsemwisefler GLp eTels Ml Wenmenw L QUTNISS 66T, LI 6iTeu(BHLD FaM NS N6ITS
5561607 WL M1 &5 61T:

1. The person who held a rank below 2500 zats was called mansabdar.
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2500 LMTLHEH G S & 60MEUTET HHrVenSLI QLMMEUT LOGTFTLISTT 6TeiTM S{6MP&HSLILILLITH.
2. The contingents of the nobles were periodically inspected.

WKiry&asetlerr LemL L fle& 6T 9eueulIGUIMG S Uley Q&FWIWLILIL L 6oT.

3. Jagirs assigned to nobles gave them hereditary rights over revenue collection.

KoL &85 Eh8 S 6UpmBIGLLILL QM IFTE6T euheuTll 6uE eV ligmer Ubueny 2 1flemlodemer
DU EH 8 (S 6LLP IS 6.

4. Jama-dami was the register maintained by revenue department that indicated the
income from a jagir.

QUOM-FTLS 6T6TLSI euBHeUTLS Slenmwmey LUFTLHl&&sLU@GLL UHCD 4 G&LD. @S 2
2R fled (BH S & 60L& GLD UIHLOTTS MBS &M &SR M.

Which of the statements given above is/are incorrect?
CLG6v ABMTH &S LILILBHETET Sa M MG 6rfl6L 6TS1/6TeM6U 86U M ITEUT606U/ S5 61 M) ITEUTEm 6U?
A) 1 and 3 only B) 1, 2 and 4 only
1 LMHMIWD 3 LG 1,2 LomMILD 4 DL ()LD
C) 2 and 3 only D) 3 and 4 only
2 lomMilh 3 L GILD 3 mMI 4 DL (LD
74) Consider the following statements regarding the administration of the
Vijayanagara empire:
aflgwpsrl CUITE 6T mlFeumsw LMmmlw LeTeu(pLd JaM M8 eme6rTd & 6160t L] b g 6iT:
1. It had times, when two rulers ruled at the same time.
@CT CHIHB 6L @ T6voT(h) L FIWTETTSH6T 96 Q&FUIS 5TeVHIS 6T @) (HIHS 60T.
2. Nayakar was in-charge of provinces called Prant.
BTWSHSTSHET LTS 6T60TM LO T8 TEUOT M1 & 6rfl60T G\LITmILILITET & 6TITe: @) (HHS 60T,
3. Under Nayakar system, the ruler assigned a land track to officials in lieu of pay.

BTWSEST (enmuiler b, SLLFIWMeTT FLOUMMSHMHGL LUSTs B &TH&HEHE5E Hevd S eneor
RS1&FH 6T,

Which of the statements given above are correct?

GG AEHMH & & LILIL (6T FahmiGerlev 1zl Fiflwmenrg?

A) 1 and 2 only B) 2 and 3 only C) 1 and 3 only D) 1,2 and 3
1 MHmID 2 0L HID 2 I0mmith 3 L (b 1 MmmID 3 (B 1,2 lnHmILD 3

75) With reference to administration under the Delhi Sultanate, consider the
following statements:
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196069 SreLg MW G B 6T LD BITUTHSHMSL QLITMISS6UenIT, LNGTaUIBLD So M MIS606TE
856 6071 UL 161 &5 61T:

1. Chahalgani refers to a set of appointed officials.

Frameus el ettt BlWO&SLIULL 3B &miflseaflear & wemeusd GMI&ERMmSI.

2. The Ariz-i-Mamalik was the commander-in chief of the military forces.
3iflerv-@ -wmedls @ rramieull LienL &erfler Hemevening SeTLUSWNS @ UBHSTIT.

3. Alauddin Khalji strengthened the Iqta system.

@&LIT (pemMmenll 3jeumey et Hevedl euaIILIBH & B 6T,

4. Firuz Tughlaq undertook humanitarian and developmental measures.
KGrmerv ZiGens eflgmLAwmeor WMHMID CWLUNL( HL6ULY 8608 &5em6T GLOM G & TEUoTLITH.
Which of the statements given above is/are correct?

GG QEMH & & LILILBHETET Fa MG erflev ergl/eTemeu &iflwimeor g/ &iflWmeoTemeu?

A) 1, 2 and 3 only B) 4 only C) 2 and 4 only D)1,2,3and 4

1,2 DmmILD 3 L HILD 4 DL (HLD 2 LoMmmILD 4 oL (LD 1,2, 3 oMM 4

76) Consider the following statement:
L9 6dTeU(HLD SaMEMME & 6L 601U M & 6iT:

1. Al-Biruni recorded his observations of Indian culture and people in his book Kitab-
ul-Rihla.

Sl6v-L et Gerg FGMLI-2 6u-Flameurr ereTm L5585 S 6L @\hS W SeTEFFTID oM MILD 08 & 6T
UHMW S6eoTSI S|6USBMTeolLIL|SHem6T LIS 6 Q& I FI6TeTITI.

2. Ibn Battuta was the Moroccan traveler who lived in the court of Muhammad bin
Tughlagqg.

WaLL G LN6T F156TeR T STFaneuuiley aUMpHS QLMTITEGCSHT Liweuoll @) LI6T LISTSIT.
Which of the statements given above is/are correct?
GG Q&EMH&SLILILB6TET gammisefley ergil/eTemeu Frflwmenrsl/&FFlumeremneu?
A) 1 only B) 2 only
1 L (HLD 2 0L (Bl
C) Both 1 and 2 D) Neither 1 nor 2

1 IMHmILD 2 @ Fevor(hLD 1 9l6Lev gl 2 @ Tevor(hLD &) 6V6DI6V

77) The Tamil Nadu Archaeology Department plans to conduct excavations in eight
locations in 2024-2025. Which of the following districts is NOT included in these

planned excavations?
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SUILBTGH QFSMeLedle) Flemm 2024-2025 ulb LTI LB @G LMserflev S&pmlie] HLSS
SLLOCReTteng. @B S LLOLOULL S&paunrpmisFuiley NeTeu@pld ML LMKG6fley 6rgl
CersasLILLeMN6vemeu?

A) Sivaganga B) Tenkasi C) Pudukottai D) Coimbatore

FeUHID 5 Q&ETHTE LSI&CHTL6mL GH MWD SSTT

78) Consider the following statements with respect to Pralay
KrGevemwLl QUITMIG S 6euenT LI6iTeuBLD N & 60 &8 6em6rTs & 61 60T L] MG & 6T
Statement 1 - Pralay is a missile Developed by DRDO
M&em& 1 - LNTGev 6T6dTLIZI DRDO 6UIT6V 2 (IH6UME S LILIL L 668 60)600T
Statement 2 - Pralay is a Surface-to-Surface short-range ballistic missile
NG 2 - LIGTG6V 6TedTLIZ SHevorL b efl(h) &6evoTL D LMWL GSMISW S1T Lmedleruig g 668 60600
A G
Statement 3 - Pralay will be India’s first tactical quasi-ballistic missile
M&ems 3 - LNTGev @HBH W melledr (NSH6L HHBCTMUTW 60T -LIMTe0l6UI8 6§68 6M6UuT 4 (&Lh
How many of the statements given above are incorrect?
CLGev AHMH & & LILIL B 6Tememou s 6rfl6L 678 8 6060T M) 860 & & 6T 56U M ITETEm6U?
A) Only one statement B) Only two statements
26T @ AMH S @ evor(H) SIM&em&E6T L (HILD
C) All three statements D) None of the above
eLNETMI ) 56018 8 @B LD GGV 6TEIA|LD @)6Vet6V

79) First Nilgiri Tahr Day which was celebrated by Tamil Nadu is celebrated on

SN GID Q& TEITL TG W (N&6L Bl ST Heurih eTedTm Q& MeuoTL ML LILIGS M I

A) October 2 B) October 4 C) October 7 D) October 9
&CLTUT 2 SIHCLITUIT 4 5CLTUF 7 SIHGLITUT 9

80) Consider the following statement regarding SHRESHTA

69Greq.LIm (SHRESHTA) Lihnlw LNedTeu(BHLD N8 em & 6mL8 86U 60T Mg 6iT

I. It aims in providing Residential Education for students

B\ 3! LDTETEUSHEH &S 26mmedlL S Heualleml 6ULNMEIG NS CIHMTEHIOMES G & ITeuor(h 6iTemS)

II. It focuses on Tribal students

@)\ 3! LIPS 19Ul 60T LOITEUUTEU 78 6061 60IOWILD TS & G & Teuor(h eTemsl

III. The students will be selected through entrance test conducted by National Testing
Agency

CsAW GCxhey WSHMLWMR BLSSLUGLL FKenpeysd GCHHe] el LOMeureuT&E6T GCsiTey
QEFWwW L@ eUmyser

Which of the statements given above are correct?
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GG QEHMH&&LILILL Gammigerflev eTg Frlwmersi?
A) I and II only B) II and III only

| Lomoid 1l oG Il lomoin 11 L (Glb
C) I and III only D) All the above

| LoD 1l L GID GGGV 26T 3(6M6TSHSILD

81) Who released the Gender Snapshot 2023 Report?

umredleor erveormLiag ml 2023 9infl&emn&enwdt Qeueflul@Gueul wmr?

A) World Health Organization (WHO)

2 U8 &SHMTSTY BloialeTd (WHO)

B) United Nations Women and the UN Department of Economic and Social Affairs
DER W BHTH G660 QLTI 6T MMILD &3.6T. QUITIGETTSTTLD MHmILD Fens aflelsMIBISG6T Senm
C) International Monetary Fund (IMF)

FIeUGSHEF HITevor BIH WD (IMF)

D) World Bank

2 V5 QUBISH

82) The Bhoomi Samman awards 2023 which recognizes the achievements in
implementing the Digital India Land Records Modernization Programme -DILRMP was
launched by ?

BIlLel @BHHWT mlev elewr LGCuBGemer Heferowinmsse) (DILRMP) SLLSGans
QFWLMSSIUB Frgeamearmamea IJRESHFEGWL LS FOwOmer aN@pSIsG6r 2023 9160
QaMLBISLUULL SI1?

A) Ministry of Urban Development

B&TLLM GWUTL(H MIDEFFSHLD

B) Ministry of Rural Development

261TH QUETIFH eMDFFSELD

C) Ministry of Home Affairs

2 GTHIEMM MNFFSEHLD

D) Ministry of Electronics and Information Technology

LAl 6oTeuTEmI 6l LLIGL LOMMILD H&H 6160 QSTIHIBIL LI Qe FFSHLID

83) How many of the following pairs are correctly matched? (Country — Mars Mission)
I. USA Odyssey

II. UAE - HOPE

III. China - Tianwen 1

IV. European Space Agency — Euclid Mission

V. Japan - BepiColombo
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A) All pairs B) 4 pairs only C) 3 pairs only D) 2 pairs only
etreu(pld CRmiq&erflev 6765 emenr CRMg FHlWMsL QUITIBHSIG M SI1?
B - Q&Feueuml S LD
. s1Qufsasr - 619.6r0
Il. &S W 9T ISTSHID - 51019 & 60y & (HOPE)
. €eorrr - S WmeTG 6u 6T 1
IV. 2CrmLLw eflevorQeuerf] B mieuenTLD - w,&erflL 19 aq 6T
V. gaLiLimedr - QU Qs mELEUIT
A) S6M60TSH S CRITIY&HEHLD B) 4 GRMQ.&6T L (hILD
Q) 3 GxMY&6T oL (LD D) 2 GRMIQ.&6T L0L_(HILD

84) India’s First Village Atlas was released by:

@ BB Wmelleir (nFH6L R FTITLD SJL6V6N 6THS LOMBlevs & mTeL QeuerfludlLLILIL L gi:

A) Kerala B) Andhra Pradesh C) Tamil Nadu D) Goa
Gayerm BRI UFCsFLIn SLALDBTH G meur

85) Which of the following village has been selected as the best tourism village of India
2023 recently?
@B wWmeller MBS &MHMIGVT G FTOLWLIMTS 2023 FISLSH O CHTHOSHHHLILILL GITOLW Tra?
A) Mawlynnong, Meghalaya B) Malana, Himachal Pradesh
LOTEU 6Ol 60T60T T, GLO&STEVLLIT LDGVITEOTIT, @LOMEF6V LITGHFID
C) Dharani, Bihar D) Biswanath Ghat, Assam
syeoofl, LSesmy LNeveumns &Ll Q&mb

86) The European Union (EU) and India conducted their first joint naval exercise in
which place?

2Crmullw eearmlwpld (EU) @HHWMaD SHESEHT (NS0 sl SLOHueL LunhAeanw 6Hs
QLSH 6 BLSSWEI?

A) Gulf of Guinea B) Indian Ocean

R el 1T eUEmETE LT @BHE WL QLI(HMBISL 6V

C) South China Sea D) Gulf of Finland

Q5607 FeoTds B5L_6V LY eTeumH &l 6Uem6T@&LIT

87) Which one of the following is India's first indigenously-developed CAR-T cell
therapy, which recently received market authorization from The Central Drugs

Standard Control Organisation (CDSCO)?
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FLSHL WHHW WLGHSISHT Srés SLEUUTLG (CDSCO) gjowullbLbtlGhs FhHeans
IBIBEHETIHMS LI QUMM @) S W melleir (NSH6L 2 6THTLIECuCW 2 (HeumsSLILLL CAR - T Q&F6L UM 5
T5I1?

A) Nexcarl19 B) Kymriah C) Yescarta D) Tecartus

QBHNCSHT 19 Snflwm QUIENVSITTLIT QL&GHTTLEV

88) ‘Volt Typhoon’ recently seen in the news is related to:
FISLSH 6L QAF WIS G66L LUTTHS 'GeumeVL. 60LLL60T' (‘Volt Typhoon’) Q& ITLIT LIMTEUTSI:
A) Natural disasters B) A new type of Battery technology
@umend CUTLS 6 g6 2@ USHW alens GUIL LK Qamylleumil L
C) Cyber threat group D) Drone defence system
MF LT FFMGHH (LD LGrmedT LIMSISTLIL] S6mLDLIL]

89) Find the correct statement / statements about Tamil Nadu Government's Marine
Elite Force?
SUILBTO STF T FMULE SHL6V LUTSHSTLIL LenL (Marine Elite Force) &g Fiflwimer sammi /
&1 M1 561l 60V60T & TEUOTS ?
1. It functions under the Ministry of Forests of Tamil Nadu.
SUOILBTH UETSSInM MDFFHSH T BLh QFW6LLIH H6eTmSl.
2. It functions under the Ministry of Home Affairs of Tamil Nadu.
SODBHTH 2_6THnM SMDFF&HBH 6T BLh QFWLLIH SR OTmSI.
3. Protection of marine resources from exploitation in the Gulf of Mannar and Palk
waters confluence.
LOGITEOTIT GUEMEMGLIT LOMMILD LME BT FHEH LGHUNL HL6V eUeTHIGm6T S JevorLedlel @\(HIHS!
LUMS18TS56V.
4. Protection of all marine resources of Tamil Nadu from exploitation.
SLOILDBTLLG60T 9|eM6TTS S &L 6V GUETHEISEMETW LD & T6voTL6916L @)\ (HHSI LITSI& TS S 60.
A)1 only B) 3 only C)1 and 3 only D) 2 and 4 only
1 L (LD 3 LG 1 lMmmID 3 oL (BILD 2 10mmIL 4 L (HLD

90) Which of the following artificial intelligence technologies is used to generate videos
from textual descriptions?

Keteu@lh QFwWMens Hevoteoormle) QSTSlLHIL LGS L  6T(D& SILILLTEULOITET
efles: Mg 6rfled (hH S 619 CUIMTE&Hem6T 2 (HeUMTeH S LIWeTL®HeUSI 615 ?

A) Sora artificial intelligence technology

GFMIM QFWMmens Hlevoreoorley QG mUeLBIL LILD

B) Watsonx artificial intelligence technology

QUITL_&F 60T6TE: 61 Q& WIMem & Hlevoreoor ey Q& MN6LHIL LI
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C) Deepbrain artificial intelligence technology.
lelIlIemeT QFWmend Hlevoreorle] Q& mP6LHEIL LI
D) Jasbir i artificial intelligence technology

26T &8 QFWMHens Hevorevor ey Q& Tl EIL LILD

91) The aim of the Indian Association found by Surendranath Banerjee was to
SGCIHHIHTSH LmeTFLluier @)\HS W Fkigss S 6T CHTEHSLD

A) Represent the views of the educated middle class and take united community action.
UG5S BHSST Uis&ESS e &BSSi8smarl NTHBSSSlLGSSIS0 HDID RTMILLL FeNs
HL_6)U1q. & 600586006 GLOM GG MTETEH 55 6V.

B) Give shape to and establish the Indian National Congress.

@BH W CHFW HTRIHTaUTEG allgalld Q&ETHSS! Blmiese0

C) Advocate constitutional reforms through legislative action.

FLLLDGTM [BL6UIQ 8608 eLN6VLD TR W eennLiL] FTH [HE S BIGHem 6T L HSem[TE 560

D) Organise seditious movements to dethrone the British empire.

WNflligeq FTymRwsSans eflnssasNE& CHFSSICTNTS @UGHEHMISG6T gDUTH Q&FUlg6n.

92) Which of the following members established the Madras Mahajan Sabha in 1884?
Netreu(plb 2 miLiNerFaerfleL WM 1884 @) 6L GILOLIFITENV LOSITR 60T FemLiemw Bl miedleormiy?
1. Thiagarajah Chetty 2. Ananda Charlu 3. Subramanya Iyer
SWTHITE QFLLY SLETHS FITTSY SLyLnevollw Wiy
Select the correct answer using codes given below.
GG Aam@ssLIULB6reT GMuiGis&ener LWeTUB S S Frlwmer LUGenevsd C&THA S H &&eayLD.
A) 1 and 3 only B) 2 and 3 only
1 mmID 3 GG 2 10mmitd 3 L GG
C)1,2and 3 D) 3 only
1,2 LDHMILD 3 3 LLGEGW

93) Consider the following statements:

L etTeu(BLD i) 560 85 86M6TE &5 61601 M1 &5 61T:

1. The Muslim community did not oppose the Partition of Bengal and did not
participate in the Swadeshi movement.

aumisl  WAifleflemeremw  (peruedlld  Fepslh B THHeNevemey  ILOMMILD &HEHF QUWEHSH 6L
LmBICSH M & efleuemev.

2. The Indian National Congress never had a Muslim president.

QHHW CHFIW SMTRIRTHES @0 (NTV6SD FemeueulT Fal @) (HHSH6Leme6v.

Which of these is/are not correct?

@eummlev a1zl &ifl @evemeu
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A) 1 only B) 2 only C) Both 1 and 2 D) None of the above
1 L GIWD AT MG\ 1 LmMID 2 GGV 6THIRLD @) 6VEDI6V

94) Match the following.
a) Navjawan Sabha - 1. V.D.Savarkar
b) Abhinav Bharat - 2. Madan Mohan Malavya
c) Dawn Society - 3. Sathees Chandra Mukherjee
d) Hindu Maha Sabha - 4. Bhagat Singh
L9) 65T (H 6 60TEU MEMM LI QLIM(H &S 6YLD.
a) Feugeumest FUM - 1. M.19.FTaUTHET
b) 9| 9evré LITDS - 2. 108 60T GLOITE 60T LOMETEULLIT
o) efiqWeL Fepsld - 3. FH6v FHHT WHTY)
d) @H& L&T Feoll - 4. LSS A
abcd
A)4312
B)1234
C)4132
D)2134

95) Match the following. (Indian National Congress)
. First Session 1. Badruddin Tyabji

. Third Session 2. Surendranath Banerjee

. Seventh Session 4. P Ananda Charlu

a
b
c. Sixth Session 3. Womesh Chandra Banerjee
d
e

. Eleventh Session 5. Pherozeshah Mehta
LS etreu(peustTeuMen MLl QUITHSS L. (QHH W C&FIW & MThIG [Ferv)
a. (NS6L IL0Fe - 1. UGBS 60T Hwmgd
b. eeTMTous SoFey - 2. HCIHHTHTS LmerFl
c.3LMTaUSI 06y 3. GeurmrGLnay FHSH [ LmeTyedl
d. gpmeugl SyniFey 4.8 syeuTHG FMTeN
e.UHCTMTeugl 06y - 5.QuCrmevaqm G T

abcde

A)23145
B)32154
C)21345
D)31542
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96) During which event, Thousands of people took bath in the Ganga and marched on
the roads singing Bande Mataram?

6Ths MlsLpeller CUMS, SUNTEHHEUTGESTET IN&E&H6T Shiansuillsy Brmy, ubGCsH LMSFL LMY
FmeneuserfleL 2a1Jeu6uLh G &F6TMEUTIT ?

A) Civil disobedience Movement &L ol @uésin

B) Non-cooperation movement &&giempWwmenio GuissLn

C) Partition of Bengal eumisL Liflelleneor

D) Swadeshi Movement &GsHH Qa1

97) “A wholesale vengeance is being taken without distinction of friend or foe. As
regards the looting,we have indeed surpassed Nadirshah” who said this to whom ?
“pevorledr, ISl eredTm GCeumum@®m @6VeLIMDN QUISSLMSEL UPlauMBIGL  HLeUGHens
qTO&ESULGT M. QSGMeTenemIgLILINGL QLITMISS6UenT, [HITHIGHET 2 6voTenlouiley BT e Temeu
N FR N CLTD. @6emg WTH WrlLlb Q&FmeiTeorgi ?

A) Elphinstone wrote to Lord Canning

eTeuL9letTervCLTedT G&enflml LIgLellh@ er(pS ety

B) Elphinstone wrote to Lord Lytton

eTeLL 96TV GLmedT Q9L L6t LNTyelM@& erpE 6oty

C) Elphinstone wrote to Sir John Lawrence

6TV LI GOTENVGLITEOT &IJ S3IM6IT GUITJETEN 8 (G 6T(LS 60T T T

D) Elphinstone wrote to Lord Mayo

eTeLL9letTerVGLmedT GLEWIT LNyL el & eTpSH ety

98) Arrange in chronological order.
smevauflenglulg auflen&FLILI® S S b &6iT.
1. Swadeshi Movement &Gs&F @u&sin
. Indian Press Act @©HHW LEHflems FL LD
. Partition of Bengal eumismery Lifleflemeor
. Risley Report rfléved oynflsens
5. Explosive Substance Act Qeugll QUL FLLLD

A)4,1,3,2,5 B) 4,3, 5,2, 1 C)4,2,1,3,5 D)4,3,1,5,2

99) Which of the following famous Military Operations of India is related to the Indo-
Pak Warof 1971?

1971 oy 1b 31L600T(H) BLHS @\hS) W -LITH VG medT GLIM(HL 60T QS TLITLemL W @)\ h& wimelledr L9 edreu L
H&DauUmHm @) FTeniel [HL 65605 TS1?
A) Operation Meghdoot B) Operation Viraat
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L LIGTaQ 60T GLNESTS U LICTaQ 6T eIl
C) Operation Bandar D) Operation Trident

QL LIGTQQ60T LIS L LIGTAQ60T LemTQ L6dTL_

100) Who ran the magazine “Vimochanam” for liquor prohibition campaign?
wasfasg VTFFTISHMHETS " NGLMEFTD " @) &60Lp HLSGIWeUT Wy ?
A) Periyar B) Rajaji C) Satyamurthi D) Gandhi

@urflwrry yregmedl F5E WSS SMHS)
101) The days of capitalism and imperialism, are numbered. The war neither began
with us nor is going to end with our lives- Whose words are these?
wsemeflggiallh IDMMIL gHETHUSHWSS T HITLGET eTevoreroTLILIH & eTmeor. GUIMY HLOLSIL LD
QB MLEIGHN6Vem6v, HLD auUMPCaum(® WIGWLI CUMau SIS 6Vemev- @) Sl WMTIHeML LU 6UITHE 60 S 8 6T?
A) Bhagat Singh B) Jatindranath das C) Kalpana Dutt D) Sukhdev

LU&sS Fbl EHHIBTS HTev SHELIETT 5 &F5CH6)

102) Which of the following statements is/are correctregarding M.N. Roy?

M.N Il Q& mTLUMS LSeTeu(bld ammigerflev eTg Frlwmersi?
1. He was associated with the revolutionaryorganisation, Anushilan Samiti.
@6y ULe&r semnliumer oisiadlever &S WL 6T QG ITL[JL]emL W eI].
2. He founded the Communist Party of India in 1920 at Tashkent.
19206V &T61q.&600TLL.6V @) IH B W &b ulenflerul &L Femwl BlmieNeormiy.
3. He was involved in 1924 Kanpur Bolshevik Conspiracy case.
1924 setTLy T CuUmvaflals &5 U ES 6L 3j6ulT FEHILILLITH.
4. He was not in favour of giving support to Britishin World War II.
@ TeuoTL D 2.6u& L GUIMl6L QYRR CW(IHE S L5T6] Q&TOHLLMS i6u 5118586 6vemev.
Select the correct answer using the code given below:
SC AamH&&LIULBG 6T GMuilamL Ll LweaTU® S S Fflwmer LUGlaeans C5THASMH & &eyLD:
A)1, 2 and 3 only B) 2 and 4 only
1,2 mmith 3 GG 2 0MmmI 4 DLHIEGLD
C) 2, 3 and 4 only D)1,2,3 and 4

2,3 loMmmID 4 DL HGLD 1,2, 3 oMM 4

103) With reference to the Anglo-Maratha wars,consider the following statements:
SLEBSCW -LFTHHWL CUTFTSHemerLl LMW LNeTeu(BlD FaM M6 &eueoll:

1.The battle of Bhima-Koregaon was part of Second Anglo-Maratha war.
Som-CamEramedT GUIT @ JeUorLmh SBIGGCuW -nrmsHwll CUM6T @b LGS WMESLD.
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2.Lord Hastings’ actions against the Pindaris led to the Third Anglo-

Maratha war.

WNeorLmifl&s@bs© eTHrmerr GCamervigm LNTLefleT BLOAIGHMESHET CLNOTMHTEUS LB Ceuw -
LITSHWL CUTIHHEG UG5S SI.

Which of the statements given above is/are correct?

GG QEMH&&LILILL gammiserfley ergl Frlwmersi?

A) 1 only B) 2 only C) Both 1 and 2 D) None of them
1 L GBID 2 LD 1 DMHMILD 2 @ Fevor(hLd 61516 l6Lemey

104) Who among the following founded the AryaMahila Samaj?

SLhE&sauTLeauTse 6L oy lw 6T FIoMrRgGSeamns HBlmefweur wmy?

A) Jyotiba Phule B) Radhakant Deb
GMHUIM LGB TM&ST&MTHS CHLI

C) Pandita Ramabai Saraswati D) Sister Subbalakshmi
LI6OOTIq & TLOMUMUI FFevelS) FCa&MsIl &6l &Ll

105) The society ‘X’ was formed in 1864 by K Sridharalu Naidu to fight the causes of
Brahmo Samaj in SouthIndia. It worked to abolish caste distinctions and promote
widow remarriage. The members of thesociety believed in one God and condemned

the superstitions and rituals of orthodox Hinduism. Identify society ‘X’.
Qg erentlhH Wmallev LNTIDLD FLOMTRE H 60T &ITIEU0THEIGHM6T THTSHSIL CLTIMTHUSHHTS C8 WfsH Ty
BTWO S6UTHETML 1864 LD L6UOTIQEL ‘X ' FRIGID 2 (HUMHSLUILILLG. &S CeumiLIm(H & emer
eNlssalh agemel LMILETSHMS 208 Gals&Ealn @& QFWOULLS. @hs &FLOMTRS S 6r
2 ML eTEH6T G &La|emer HLOL6rT LM mMILD WL euyl @\ Sl 0S8 H 60T e LIHLL LI & 60 8 & 66T LD
FLMIG S METWLD &600TL6UTLD QFWISET. @\HS ‘X' FRISSHMNS S|60LIITETLD &ITEUOTaYLD ?
A) Arya Samaj B) Prarthana Samaj C) Dev Samaj D) Veda Samaj

ST W FLOMGLD NOmI& & 60T FLnmeLd Gxeal FIOMYLD Geus FIOMYLD

106) Which among the following group of people were associated with the Bombay
Association?

L9 60T6uU (HLD TH5 8 & W edlemeor CFIHS 3| 6M6uT6U (IHLD Lomul FhIS S SIL 60T
QS ML 6mL We6UF&e6T?
A) Mahadeo Govind Ranade, Dadabhai Naoroji and Jagannath Shankar Sheth
&ETCHEWT CHmallbg FmerGL, STHTUMUI QBHeTCTMel LDMMILD 8385 60TeT TS FRGT CFg
B) Bhau Daji Lad, Pherozshah Mehta and K. T.Telang
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LImed Smedl oo, QUGBTI GG ST InMmMID G&.19. QS EVTHI
C) Dadabhai Naoroji, Jagannath Shankar Sheth and Naoroji Furdunjee
STSTUML QBeTCTTYl, 2&6T6TMS aqBISGT CF& WMHMID QBemCrTel &LTSieT
D) Gopal Krishna Gokhale, Lala Lajpat Rai and Naoroji Furdunjee

G&HITLIMEL & ([H6e1q.600T BSHMTEHEEV, GVITEVIT VLIS TITUI LOMMID QBHETCTTEl &LTSIGHE

107) Consider the following statements:
LN 6OTeU(BLD SaMHMIGE6TE & 66vll:
1.Rash Behari Bose and Sachin Sanyal were tried in Alipore Conspiracy.

greg Wamrmrfl GuUmsv WMMID FEF T FaOTWML WHCWTT OLT &5 &G
alemrflsaslurLeory.

2.Kal was a publication which was advocating revolutionary nationalism in Bengal.
&6V 6TEOTLIZ] UBISTaTSH 6L UTFLFA ST CHFAWaUTEHS56m5 21,5155 aulbs s LISLIL].

3.Ramosi Peasant Force by Vasudev Balwant Phadke was one of the first
revolutionary group in Maharashtra.

aUM&GHeU Licveunds LUMLGseller pmGLmE afleusmuilser LenL WO&TFTaqLyFmelledr (N6
UL & &weileév eeTMIT&SLD.

Which of the statement given above is/are correct?
CLGev Q&MH&&LILILBET6T ammiserflev eTgl srlwmersi?
A) 1 and 2 only B) 2 and 3 only C) 3 only D) 1,2 and 3

1 LMHMID 2 WL GILWD 2 10mMmilh 3 L (LD 3 L GLD 1,2 LDMMILD 3

108) During the Second World War, to break the deadlock between the two major
political parties in India, C Rajagopalachari proposed a set of plans called the C.R.
Formula or Rajaji Formula. Under this, both parties were to cooperate and form a

provisional government at the center. But the proposal was not accepted because

@ reoTL D 2 6u&Ll Gumifledr CUIME, @BBHwmellév 2 6tem @revor® AUl YTFWEL &L F & EH &S
@eLCW QHSs WwraruTh&emer 2 emLss, C.R. Gl (C.R. Formula) gjvevg prgmgl
SLLsBemer (Rajaji Formula) C. prgCsmumengsmfl pereumPlbsry. @ ar &, Qo
SLF&HEBD @5 F5I0PS5 S 0SH UL SMETOIH ITFTHIGHMS I0NGSH ([HEHH Ceuetor(hLD. I, 60TT6V
HS WeTQLMSle] THETIT6V MaLILILeN6uemev ?

A) Muslim league wanted entire population of the Muslim majority areas to vote on the
plebiscite.
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weeSih 658 &G (nevedliDss6T QLIBLDLITETENOUWITS 2 6T LIGH Serflev InGS&H6T el oertleHss Gelsoor(hLh
ereorm eNl(HLD LI 6oTI.

B) Muslim league wanted only Muslim leaders to take part in discussions of the plan.

@55 L6 aflaumgmiserfliey (evedlld SemevalfsseT L HiG LkICHME CalsuoT(hld 6T6dTmI (Lnevedlh 658
aflGBLIwg.

C) Muslim league wanted a common Central government with full authority after the British
rule.

Nfllgeq ol P66L LNING W SIH&TIN Q&M @@ QLIMSIeUTET SHU STand Wevedh 655
A@@mIwg.

D) Muslim league wanted the Indian National Congress to accept the Two-Nation Theory.

@BH W CHRAW HTRIH TV @ CHFE CHMLLIML ML gma Caleor(pLh eteorml evedid 658 aflLbLNwig.

109) Which of the following agreements are correctly matched with their objectives?
Agreement Objective
1. Delhi Proposal - Demands by Indian National Congress to be included in
Montagu- Chelmsford Report.
2.Delhi Pact - Conditions on which Gandhi agreed to suspend Civil
Disobedience Movement.
3.Delhi Manifesto - Congress manifesto outlining its Agrarian reform agenda in 1937
elections.
Select the answer using the code given below:
A) 2 only B) 2 and 3 only C) 1 and 3 only D) 1,2 and 3
L 6dTeu(BLD 6TTHS 69 LILIMH SIS 6T 36U Ml edT GIbITE: &M1& 65 L-60T &M LI QLT h 16 66T M 60T ?
RIN[H];;Y:]h) GBT& &0
1. QL6L6S WeTQMSlaySHeT - @QHHW CHFFW HTRIG Ferdler WeTAwmley CamldHeem s aer
LTETCLG- QFeuCUNTTL nsamnsuiley CFTEsLILIL Geustor(HLD.
2.0L6v68 LILBSLD - FLL DOILIY QUWESHMS BIMISS SMTHS eLIL|&6 & TevorL
1B L1 [H & 60 60T & 61T.
3. QL6LEY MG S - 1937 Gz 56 &6 S gear alleusmw ETHHHS BISHLEFR BlFane
Y HCHMGHLD HTHIG T S N&Hemns.
BCY Qs &&ELUULR6Tar GMuiienL Ll LweTUBSH allemLenwsd G5 HESH & LD:

A) 2 I0L_(hILD B) 2 nmHmild 3 LD 0) 1 mmid 3 L G D) 1,2 Inmmild 3
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110) Which of the following statements regarding the extent of mass participation in

the Civil Disobedience Movement is correct?

@5 S5InpWIMenLD @ WESHSH 6L Qleu(EZ6oTL LIBIGHMHLI 6T 96mey Q& MLIFLIMeor LeiTau(bLD Fu M migerleu
o1zl Frflwumenrg?

A) Although women participated but they did not lead any protest at any point.

QUETITHET HVBS QSMoTLTID  UTHeT 6hE @ &HLLEHeD 6Hs CUTTTL LSS
BL &S eevenev.

B) There was no participation by Muslims in any part of India.

@pHwmeller eThsL LiGHuleid wpevedlibgserfler LibigserflliL @ evenev.

C) The workers led by leftists did not support the movement.

@LaFTf&6r saneveninuilevmer Q& TUMETIH6T @ USGSHS5mME 2516 &alcvemev.

D) The business class including the petty traders and merchants participated.

F M) 6Uetol1&I86T LDMHMILD QLITH 6Lt &HTEH6T 2 L LIL 606TSHS! aUIE85H 6T(HD HeVHS! 618 MeuoT 60T,

111) With reference to the agitation against INA trials of 1945 for the release of Indian
National Army prisoners, consider the following:

QHHW CHRW @rreviaus m&HGIGEemer eGellugmameor 1945 oulb  SLevor@  INA
ANFTTTHEHEHEG qHTTeor CUTITLLSMSS SMOILNGLWL  euemsullév, L6tTeu (He6uetTeUmMemnmE:
5 6u60r:

1.The central theme of the agitation was the Britain’s right to decide a matter
concerning Indians.

QhHwWiseamery umMw ealeqwdiHeams WHRAaGEGWL W\fllLaflar o flenwngrar @bHsLl
CUMITL LSS 6T 60l0W S &H(HeUNS @) (HHSS!.

2. The agitation was largely limited to Delhi, Bombay and Calcutta.
@hHsLU CUTTMTLLLD QUBLLUMYID QL6V6ed, LUMU InMHMID H&S5S5Tallél LLHIGL BHLIHSS.

3. Indian National Congress had set up the INA Defense Committee with Dr. Rajendra
Prasad and Sardar Vallabhbhai Patel for INA officers’ legal defense.

AHHW CHAW sTHRIS TV, INA 9B smilsefler &L LU LUMSISTULGSTS LISLT FreRhe T KNrsns
LMMIL FFSTT euveuUmll LCLL H&RCWMenFs: Q&meorL @hHHW CHFW Frmeamieu (INA)
LUMSI&STLL S G(Dem6U 360G S .

Which of the statements given above is/are correct?
GG AEBMHGHLILILL gammserfley erg Frlwmers?
A) 1 only B) 1 and 2 only C) 1 and 3 only D) 2 and 3 only

1 L (D 1 mmIDd 2 LG WD 1 Mm®mID 3 L GHIWD 2 lomMIb 3 L GILD
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112) Arrange the following in chronological order
LSletT eu(BeueTOUDEMME SMevauflen & LM S S 8.

1. Second Communal Government Order to ensure equitable distribution in
appointments

FLOLOITET UMWILIL|S6meT 2 MG QFWWWL QUITBLB Qeuefluli Ll L. @ revorLmeug eu@LiLjeur]
S| [J&FIT60)6TOT.

2. Staff Selection Board formed by Justice Party

uevoflwimeny G ey eumflwb BH &S Fwmev CammmieNlsHasILILL I

3. Hindu Religious Endowment (HRE) Act

Qb8! FLOW SIMBlMEIWE FLLLD

4. Approval of participation of women in the electoral politics
CEHIH6L STFIWES6L QLTS 6T LBICHEMLIMS S EIE &5 S5l

5. Annamalai university establised

S| GUOTEUOTITLO6MEV LI LIV & M6V S SN SLD Bl mieuLILILl L gl

A) 4-1-2-3-5 B) 1-2-4-3-5 C) 3-2-1-4-5 D) 4-2-1-3-5

113) Choose the correct statement about Women’s India Association (WIA)?
@ HBH WL QLTS 6T FRHIGLD GMS5S Fifl WM Fammi&aners C&THAS M.

1. It was started in 1917 by Annie Besant, Dorothy Jinarajadasa and Margaret Cousins
at Delhi.

@151 191786V 6T QLEFTL, CLTTH L TIMTRSTET, IDTTHEQAFL &&F 6irerv LS CWITT T
QLU QBTLBISLILILLSI.

2. The Association published pamphlets and bulletins in different languages to detail
the problems of personal hygiene, child care and women’s role in the public.

@e6ueuemloLiL] GeoflBLIF &&EMTSHTILD, GLHens eueTyLIL], QUITSIeUmLDefl6v GLI6uors: 6rfl6dr LIMI(S
R Wemeu GMS S LiIsLGeaum QLomsl&erfley gieoor(hLILNT& T k&S emeTW D Q&F WS 0L 608 m6TW LD
QeuerflufiLLeor.

3. This association formed the All India Women’s Conference (AIWC) in 1927 to
address the problem of Women’s Education

@ éeueuemoLiL], QUeoTs6V6eN GG LI [TE&6060TH 6M6ITE 6018 LMTETEUSHMETSH 1927-60 3 FH6v
©)\H B WLIGLIEUITS 6T OMBTLemL Blmiedw .

A)1l &2 B)2 &3 C)1&3 D)1,2&3

114) Which of the following contain notes about Pandya Kings?
L9607 6u(1H6u6oTEUMNI 6L LIMEDOTLY.W LOGOTEOT TS 6T LIMMIW (&ML & 6em6rms: 685 T6e00TL6m6U 6T6016U?
1. Manur Inscription T 701 5 - AV AT )
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2. Marcopolo accounts wMF&ECETCUTCTeNET &MILIL 6T

3. Hiuen Tsang accounts weumeiraeummi&edr & nlLiL| 6T

4. Velvikkudi Copper plates Geouctail&GLqF QFLCUGBS&6T

5. Kasakudi Copper plates &nFs5G195F QFLUCUGB ST

A) 3 and 5 B) 1,2 and 4 C)1,2,3and 4 D) All the above

3 LDMMILD5 1,2 InMHmILD 4 1,2, 3 l0MMILD 4 GLOMSHETITL | 6D)60TSH SILD

115) Which of the following statements are correct?
BLD & 5 600TL. oD NI E@BHET eTemeu &FIflWITuTEm6U?

1. In 1755 Pulidevar defeated the Alexander heron

1755 @6V LUeSICH U] SIQVEFTEITL T QamTmeneT CHMMELQS5 5T

2. Yusuf Khan began to batter the Nerkattumseval fort against Puli Thevar.
WIS QBMH&ELBHIW QFe6U CaHTLmLemW L|69&CH[HHES aTH M (WHMienas Ul LTy,

3. On 16tk March 1761, Puli Thevar’s three major forts came under the control of
Yusuf Khan.

1761 LOMF& 16 @ 6L L|6e81 & CH6uif6tr eneiTml (NS WS CHITL 60L& 6T W, & L1185 MTeull60T &L H)\LILITLLY.M@E 6T
QU IH 5 60T.

4. On 1767 Yusuf khan was hanged

1767 @6V WELISMeT ST&HH Ol I LTF

A) 1 & 2 correct 3 & 4 wrong B) 2 & 3 correct 1 & 4 wrong
1825013 &4 sam 28350 1&4 5010

C) 1,2 & 3 correct 4 wrong D) All the above

12 &3 &ifl 4 Heum CUMHFnML SeMeTSSILD

116) Choose the incorrect statement about MaraimalaiAdigal
LDEMMLOEMEV 198 6T LIMHMIW SHeummerr nlHean&enws C5HITHRSH & &L

A) MaraimalaiAdigal is considered as the Father of Tamil linguistic purism.
DemMLNemMeV 19861 Sl QmElulwey STlenuleT SHams ILT&HS &HBSLILGERMITH.
B) He was the founder of Thani Tamil Iyakkam

seflg 0D QussHEmg Bloieilweur

C) He worked in a journal, Swedhasamithiran

IlalT &CHFINGH et eteorm LIS flemasullev Lisvoflwimmadleormy
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D) He wrote commentaries on the Sangam texts, Pattinappalai and Mullaipattu

TG BI6VSETITET LILIQ6TLILIMTem6y oMmILD (pevemevll LML (h b&H Weummis & 666 6m e ener
TS\ eoTTIT

117) Who among the following leaders participated in the Vedaranyan Salt
Satyagraha?
LSetreu(pLh HemeveuFaserflel Geugmyevoriid 2 UL F5SHWUMERISHSS 60 LIKIGCHMHMEUTSHET WITeUl?
1. T.S.S. Rajan 2. Rukmani Lakshmipathi 3. Sardar Vedarathnam
T.S.S.FTegeor & 1060011 VL& LA LIS FISTY CausTEHH 6urld
4. C. Swaminathar 5. Vaidyanathar 6. K. Santhanam 7. L.N.Gopalasamy
C. emABIST MAUSHWBTST K. & mTeorLh LN.Ga&mumeua L
A)2,3,4and 6,7 B)1,2,3,5,6and 7
2,3,46 WHmD 7 1,2,3,5 6 LDHmiLd 7
C)1,2,3,4and 6 D) All the above
1,2, 3,4 0mHmILd 6 GLM&600TL. {60)60TS Gl LD

118) Speak out your speech when once this past dispute That none can utter speech
that shall your speech refute What does thiruvalluvar mean by 'that shall your speech'

QFTOLAISE QFMLemeV LIMICHTTAFTEL 3 &FQ&FT6V6m6V
QUL NIEHAFTEL @) 60TemLlD NSl

“S|FQAFTELEMEV" 6T6UT B)(HEUETEHEUT 260 TLILISI 678 60)60T
A) A Synonym of the word used by you
BiIsGeT LweTUBGSH W QFmevedler CalQmm(p Q& mev
B) A substitute word
QFMLISHEG LDTMMTEH Geuml Q& M6V
C) A translated word for the word used by you
BRIG6T LWeTLURSH W QFTsEHES CaummIQmSlF Q&me

D) That word of yours which cannot be won by others

LDMMEUTSHETITEV GlaI6V6V (LPIQUIMS 2 MHIGHEHML U QF M6V

119) Which of the following statements are incorrect regarding Vellore Revolt of
1806?
B LD G 600TL. Fa. N M1 5 EHET 6TemoU CeusuTTLTL G - 1806 &M1& 1 & 6UMITEOTem6U?
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1. The trigger for the revolt came in the form of a new military regulation notified by
the Commander-in-Chief Sir John Cradock

HIL® gMUBeUSMHSTET @ WS SFEBHWTS Semevenlo SeTUS &FiJ QmearsLms QeuefluillL LS w
@rremie NFWenm SiemDbHS S

2. Colonel MeKerras was the first victim

W0 5696L LISl WIMeTEU T &IT60T6L QD& ITIT6M

3. Colonel Gillespie who was outside the Fort, informed about this revolt to Major
Cootes in Arcot.

CaHMLeLE G QeueGWUIBHS &iyeorey HeLeveul LMHBTLIG6L QBHS CLRT Fal 61V S
5VESMGL LIHMS SFH6I6L QETHSHSTT.

4. Rebel’s proclaimed Fateh Hyder as their new ruler and hoisted the tiger flag of
Mysore sultans in the Fort.

UOLS&E&EMTISH6T SLUGCH emamgeny LS W neTeorymsLl LNJ&L6Th QF UG 600 @ IT & 608 meorleor

Hel&asmgemw CamienLuilév gmnileoriy.

A) 1 and 3 B) 1,2 and 4 C) 2 and 3 D) 1 and 4
1MmmiLh 3 1,2 InHMILD 4 2 InmmiLd 3 1 InMHmILD 4

120) Consider the following statements regarding Ayothiyadasar?
eoTeu(BlD HCWMTSHS) STEFT Fa M MIGEMET &6u6ol?

1. After organizing the tribals of Nilgris in the 1870s, he established Advaidananda
Sabha in 1876.

18705 6rfl6L Hev A flufledr LIPMEIGLQUlETem T ROBIGMWLGSS LIMEGS, Si6ul] 187660 3|5 606U T6UTHS
FenLienw Ml miedleormiy.

2. He launched a magazine called Dravida Pandian along with John Rathinam in 1885

S6ury 1885 @)6L VITEHT I8 H) 60T HIL60T B) 60600T[HZ1 B\ J el L LIT6oTLY LG0T 6T60Tm LIS S et &em &
QMBS 6T,

3. In 1886, Thasar issued a statement, almost half a century before Ambedkar, saying
that the so-called untouchables were not Hindus.

18866V, LDCUIGEH(HEE 60T BIMHMTEToTH &G (N6TCLI, B 600TL &8 8 M5 6U T8 6T 6TeiTm)
NP &S LILIGLIUTSHET @)1h S8 86T 3|6V6V eTeTM STEFT @6 M&eamnsenw QeuefludlLmy.

A) Statement 1 and 2 are correct B) Statement 1 and 3 are correct
Mol 1, 2 LGB\ &Fifl Famml 1,3 LG Fif
C) Statement 2 and 3 are correct D) All the statements are correct

Mol 2,3 LG\ Fifl MGG S HMIGHEHLD &)
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121) Choose the correct statement about Dheeran Chinnamalai?

Breir Fetreorinemev LMMIw FFlwment samenm CHTey Q&I?

1. He was trained by French military in modern warfare

@euy Narehs @rremieusSler Baier CuTFeam LWHE AUOHMGHSTT

2. He issued a proclamation of independence called Tiruchirappalli Proclamation in
June 1801.

296ir 180160 @6ul "GHEFFRFTLILGTET LNFs&H LT eTermenpH&LILILL "&SHS T L J&sLerin”
@6renm QeuefuiL Ly

3. He engaged in guerrilla warfare and defeated the British in battles at Cauvery,
Odanilai and Arachalur

@eul &mGaulfl L MHlemev LOMMID TFFYNT CUITETM @)L MiGerlev HeoLQUMM CUTTSerflév
Qs mifleveur CUTTNemMUIleL S BIFH VLI LIOL Hem6Ns CHTMEHLYS ST

4. He was hanged at Sankagiri fort on June 31 ,1805
ey 296t 31, 1805 6T FRIGER ] CHTLemL U6V FM& e LILIL LT
A) 1only B) 1,3 and 4 C)1and3 D) All the above

1 L (LD 1,3 nmHmILd 4 1 DMHmILD 3 GLDM & 600TL 26D 60TSH S0

122) Whate'er they fail to guard, o'er lips men guard should keep;
If not, through fault of tongue, they bitter tears shall weep
Valluvar cautioned whom as “Sokappar”?

wrsmeumymuilenilb HM&ME 8 &MeUITE &6

CFMmMLILF QFmMLed (W& L LUL®

"GEFMSITLILIT" 6T6UT 6UGITEH6UIT eTeuen T eT&& &SR MMF?

A) The one who has no love B) One who has desire

SjerLileveunseuemiy SLENF UL 60) _LLIGU 6D [T
C) One who spends more money D) One who is not keeping his words

355 LieoTld QFevalblliLiaien] H60T QEFTVEMEVE &HITE G TS 660

123) Choose the incorrect pairs
S6UMITEIT ©) 60 600TSH M6NS CHTHASH

1. Adichanallur - Thoothukudi district
2HEF BT SM15S16G1q. Lomeul LD
2. Porunthal Erode district

QUIT(BIHS 6V FGIM( LOMUL_L LD
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3. Keezhadi Sivagangai district
FEiplq FleusmIemn s DMeL L LD

4. Paiyampalli Dindigul district
emLwibLieerf] FeooT(H 8856V LOMEUL_L LD

5. Kodumanal Krishnagiri district
@& M(h) LD 6TOT6V - &\ (Beqeoor R if] LDMeUL L LD

A)1&3 B)3,4&5 C)2,4&5 D)1,2&5

124) Arrange the following in chronological order
etreu(peusoreumenma: &meveuflen&ILI(H & S15%:

1. Maravarman Sekharan ascending the throne
LOTM6UITLOEIT (&6VCEFST60T 1)l 6h6ToT 6] M1 G560

2. Marco Polo’s visit to Kayal
LTFSECHETCLTCTeN6T &ITW6) 6UIHMSE

3. Invasion of Malik Kafur

M9 & &ML, LemLQW @ LIL

4. Rule of Sadaiyavarman Sundarapandyan

S0 L WIGUITLO60T & [H & [T LIITEuoT LY.L 6011 60T o1&

A) 1-2-3-4 B)3-1-4-2 C) 1-3-2-4 D) 4-1-2-3

125) Which of the following is not true about Maduraikanchi?

L IeMTEHSTEF LM LI ereuheusoreummie Fflulicueuns &l eTi1?

(i) Book highlighting the city of Madurai and Kanchipuram

DSI6MT (H& TSNS, HTEHFIYTLD HEHETSmSUWb FMLILNGS SIS o mIlb BI6Y

(ii) One of the following eighteen books

LIS Gl 6oT6v0T G310 858560018 (G BIT6L & @H6IT 62 60T M)

(iii) Ith has 782 lines

782 9|19.56061T8 Q& T6U0TL Sl.

(iv) The author was Perungundur Perungausikanar

LA lWIT QLB IS 60T MITT G\LI(H MBI G\ & 61T &\ & 6T T[T

A) i,ii,iii B) ii,iii,iv C) i,ii,iv D) All of the above
i,ii,iii i, iii,iv i,ii,iv 3|EETE SILD
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126) Which of the following is not wrong in the administration of Pandyan country?
LITeuoTLq. W [BITL.Lq.60T BlTeumssld LNflell6v &eum S160V6VMTSH SI 6TSI?

A) Ur - Nadu - Valanadu - Mandalam - Kootram

oer(y - B - QUETHT(H - LDEDOTL6VLD - FnMMLD

B) Mandalam - Valanadu - Nadu - Kootram - Ur

LD60OTL6VLD - 6UeTBT(H — BT - SaMMLD - 26r[y

C) Ur - Valanadu - Nadu - Kootram - Mandalam

o6y - eUeTBIT(H - BMTEH - FaMMmLD — LO6TTL6VLD

D) Kootram — Ur — Nadu - Valanadu - Mandalam

FaMMLD - 2en[] — BIMT(H - UETHT(H — LO6TOTL_6VLD

127) Which of the following statements about the Madras Mahajan Sabha is
incorrect?.

QLT D& TR60r Fenld LIMmMIw L eToupLd Fammiserfléy &eummeorsl erg?

I. P. Rangaiah Naidu took charge as the first secretary of the Madras Mahajana Sabha.
Q& 6ITEM6UT 0SS TLI60T &6 LIUS 60T (LNSHEV QI EFEWEUTETITITE P. THIENSWT QUTMILICLMHMITH.

II. Gandhiji addressed the Madras Mahajan Sabha on 26 October 1896.

STHS WILLSH6T 1896 SHCLITLIT 26 - 6V Q& 6TEMET L0& TR60T FemLiudley 2 emywmmnleorTiy.

III. 1930 - T.R Ramachandran Committee constituted to inquire into the issue of
attack by members of this organization in the Salt Satyagraha protest.

1930 - 2 LI&FSH MR IsEL CUTTTLLSH 6L @ eueuenoLlililer 2 ML er g6 &ime S w
deusnrseas ellFmiflés TR FTLEFHH 6T (D S|MNGSHLILILLSI.

A) Only I is wrong B) I and III are wrong

| DL B SHeum I Lo oid 1l Heum

C) Only II is wrong D) I and II are wrong

Il (KL Heumi | LnmMILD 1l Seum

128) Examine the following statements
LN 6TaUBLD FaMMIGHen6T S5 TS5

1. The first petition of the Madras Native Association was discussed in the British

Parliament in March - 1853.
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QT BTENETEUTHF S6IT FHIGS T 60T (LNFH6V LDl 1853 - LDTHE @6V @MBIHVTHS! LITTTEHLO6T M S H 6L

AamHeasLLL LGl

II. Madras Native Association sent a second petition signed by 1400 people to the

British Parliament for the abolition of the East India Company's rule in India.
QF T TEUTHI 6T FRIGLD @HH W Tellev HLPERHH W SHGLIeTuN6T <l & e1dlg & LILIL G6u6vor(h 6 LoeoTm)
1400 BLITS6T M&QUIWSTL_ L @) JeTLTeIS D&Ml QB LIMTTTEBLI6TMmESEHME& sl eneus sl
III. After the death of Lakshmi Narasu chetty in 1881, this system became extinct.
WL &ABIS QFL LY 1881-60 @UIMeM& eTWLIHIW LIMG @e6ualenioliL] &l MmiLl GLITeTS.
A) I is correct, II and III are false B) I and III are correct, II is false

I &1fl, Il nmoLd 11l Seumi I o 1 &ifl, 1| Seum
C) All are correct D) II and III are correct, 1 is false

SIS SN Fifl I mmid Il &ifl, 1 Seum

129) Choose the correct one from the following statement.
B L& & mevor LieoTeummiaT Fiflumerens LG\ CHT6 Q& IS,

1. The main cause of the Vellore mutiny was the introduction of new army
regulations

CousuTy HVHSH MG (NS STIeord LS Fremiel eNS) (LnenmEHem6T 2 ([HeUTHRIWS! &TeT,
2. Tipu's family is not kept in Vellore jail.
FLeler GG WL Fenm emealssLILLaN606me6v.
3. Tipu's son sought help from the French government.
e n&HeT LNQTEha TH et 2 gellenll [BITIY.60TTH.
4. Tipu's sons were sent as prisoners to Penang after the rebellion.
FHVHSH MG LT HLILeN60T Ln&He0TH6T LNoTTHRISR MG & &6 e ILLILIL L6,
A) 1, 2, 3,4 are true B) 1, 2 are true, 3 ,4 are wrong
1,2, 34 &if 1,281, 3.4 seum
C) 1, 4 is wrong, 2, 3 are right D) 1, 3 is right, 2 ,4 is wrong

14 aum, 2, 3 &ifl 1,380, 2 .4 eum
130) The settled rule of every code requires, as highest good,

Their greatness who, renouncing all, true to their rule have stood
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In the Thirukural,Thiruvalluvar said how can you learn about the pride of Ascetics?
PW&s58 BT QUG lwlLss)
CeuetoT(h LD LISDI6U6V Flevotlay
ereorm GMlerflev B85 mifledr GLI(H6mLD6M 6TS 60T eLN6ULD MIWEVITLD 6T60T B (HEUETEBUT T IS MITT
A) Receiving the Lord's Scripts B) By renouncing World bonds

@)EIMEUET H([H6ULGHENET S|6MLEUSET eLN6eULD 2 V& LIBSHMHIGE6T SIMLUILIGEIT eLO6ULD
C) Of Texts D) Walking in Charity

sreseflelmna Sim uSluleh BLLILSET eneuld

131) Consider the following statements regarding S. Dharmampal?

LS 6dTeU(BLD 6T61V. &ITLOTDLITET S M) 1)1 6M6IT &6 6vl1?

1. On November 13, 1938, she organised Women's Conference at Chennai

1938 Heulb LI 13 9y Lb HITET, QFeTemeuTuilev, SLAILD HITL(HLI QILI6UITS6IT LOMBITL60L [HL & H6UTITI.

2. Inspired by Anna’s thoughts and fought against Widow remarriage , Women
education, intercaste marriage

S| UUTEUOTITEUIMEV FIF&SLILIL G eflgemeu L0 MILD6UOTLD, QLIGToT &6V6N, &euLlL|g B (HLO6vTLD
R WuMMISE TH TS CLITTITLY60TITT

3. In this conference Dravidar Kazhagam President E. V. Ramasamy was given the
title Periyar

SIDWLITBILIGE SFmeiLy &p&s5 Semeveul F.Qeu.@ImuaFrills Gl Qulwmy erersib L LD
QUPMRISLILLLSI.

A) Statement 1, 2 are true and 3 is wrong B) Statement 1, 2 wrong 3 True
Fammi 1,2 &ifl 3 Heum ool 1,2 eumi 3 &ifl
C) Statement 1, 3 are true and 2 is wrong D) All are wrong

Fmm 1,3 &1l 2 Heum MG SILD SHeuml

132) Say not, 'Tis hard', in weak, desponding hour,
For strenuous effort gives prevailing power.
What is the meaning of “strenuous effort” in this kural?

S|(HeMLD 2 DL FHC S 60TM S|FMeuTenln Geuetor(HILD
QU(HEML WM SHHLD. - @) & E&GMeTl6tT “ D FTEUTEmLD” 6T60TLIS 60T G\LIIT(H 6T 6T60T60T?
A) Aversion for everything B) Having will power

aflLOLIMemLD LD6OT [5G 61T [T T6DILO
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C) Not trying D) None of these

(LUW6VITEmLD @eumilév ergia)Lllevemn ey
133) Choose the incorrect statement about Poompuhar
FRISSTVSS6 LLIDLSTT UHMIW Seummer Samenms C5THAS M0
A) It served as the port of the early chola kingdom
@& GFMLY TFI6T JIOHMLNS BSHTTSH ell6ThEIG WD

B) Pattinappaalai and Tamil epics, Silappathikaram and Manimegalai have references to the

sea-borne trade that took place in Poompuhar

LI smlev sLsvallsl alenllsd HenL QUMM TS LILIG6TLILIMemn6V Mmid @Il enL & smiiuilu

BTL&6TTeT FleuILIG& T, N6tol1GI& eV & wenel &L & 6T meor.

C) A mint of Roman coins was present at Poompuhar

G mLnmedtWl BTetor w6 SUMfleGd QsmSlhaFmeney L&l @mhES!
D) In Poomphuar houses were well-designed

LI smHlev af(h&6T e(WmissmeoT (WemmUNleL allgalemng gLl LIL 1 (HH S 60T

134) Choose the incorrect statement about economy in Sangam age?

FRISSTVSS QUITIHETTSTFL LMMIW Seummer gamenms C&THASMH?

A) People knew how to make glass beads

G600TE00T TLY. LD 600T 1 &H6m6TE: Q& UIWLLD (LNemMemL D& &H6T M HS) [HH S 60T

B) People does not knew about sugarcane cultivation
S Lulfliev LM & &6T 2mES) (5 56l evenev
C) Iron manufacturing was an important artisanal activity

@GLE S&mels6r QF e WNeHESHWLNTT Q&TISleuTs @) ;hE [HER M

D) The production of commodities is called industry

QUTHET 2. MUSH QF WD SemILILIG&6T QS TSN Snl MBIG6T 6T60T {6088 1LIL L 6.

135) Choose the correct statement regarding Madras Mahajana Sabha.
QF6ITeM 6T LOGTRY 6T Fenll GMISHS FrlwmeT samenm CHTHASH

1. It demanded to conduct Civil Service examination only in India.

(5196010 LI L160011 8 (6158 & IT60T GG Tey & 6T @) HH W mellev L HIGL HLSHLILIL Ceuetor(hLD eTeurs CHmiflwig.
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2. It led to the formation of torture commission to avoid the torture of peasant by
Revenue officials.

6UBEUMLS Slemm ENSEDRDIET G efleu&mull &6t FHBTeumS QFUWLILU@G MG
SATLULUSNHSHTS F1&H TS L6M600TILILD 2 (HeUME S eulpleUGSGSHS Sl.

A) 1 only B) 2 only C) 1and 2 D) None of these

1L @RI 2 LD 1 DMHMILD 2 @eummlev eTgia]Llleveney

136) Consider the following statements:
L 6dTeU(BLD S MIG6METE &(IHS B 6L Q& IT6ITs.

I. Rukmani Lakshmipati was the 1st woman to pay penalty for the violation of salt
laws in India.

QBB Wmelley 2 U FLLGMG WBHWSMHETS UITSHL QFNSGHW (NSHV GQLI6IT (H&Loeuol]
VLGOS SLeuTr.

II. Sarojini Naidu was the first female President of INC.

QHH WS CHFWE &TmHISH Fedledr (NG 6V GLI6T SeneveuT FCrmlentl BHTw @

III. Dr. Muthulakshmi Reddy has been conferred with the Padma Vibhushan Award
LITSLT WSHSIVL&N QL8 LS elL,aqevor ed(h Sl euLp kgL B 6Tersi

IV . Dr .Dharmambal was the siddha doctor born in karuthattankudi

LAGLY STLMDUNET &(B5S5LLTHRGIUN0 KNDHS G165 DBSSI6UT SLeUTT

How many of the above statements are correct?

CLOM&600TL. FaM MIG 616V 6T8 &60M60T T MI(&6IT) FiflmetTemou?

A)1 B) 2 C) 3 D) 4

137) Consider the following statements about the Swadeshi Steam Navigation
Company:

&C5F BHrmeils &LIL6 S L6 QG TLFUmeT L6TeU(hld FaM M8 em6T &(IHS H 6L Q& TeTs.
I. Swedesi steam navigation company was established on October 16,1905
S&CLMUT 16 190560 &CHEF Hrmells &LILI6 BlMiaIeTd QSTLBISLLLL S

II.V.O.C was the President of this company

@& 5L HELETSEG 6u 2. & 6uTSH6T SHIT6r HeMmeVeUTTs MIWLS& &S LILLLTT

III. Vijayaragavachari is the legal advisor to the company

SluefutleT FLL 9CunEFsT aflgwWrms:eumgs il

IV. The company owned 2 ships - SS Galiya and SS Lava.
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@\HS HlMIeUETLD SS &HITeSIGWIT, SS 6UITEUIT ST 2 HLILILSEMET 606US H) (HHS .

V. It broke the monopoly of British in the navigation sector.

B\ 5 BRRCWITE 66T &L MHUWewT aHCLMS 2 [flannenl qH TS5 SI.

Which of the statements given above is/are correct?

CumaanlweummieT FHlWMETSI 6TSI/ 6Temeu?

A) I, I are correct III,IV,V are incorrect B) L, ILIII are correct IV,V are incorrect

L&l HLIVY seum LILIN &l VYV Seum

C) I, Il is incorrect III,IV,V is correct D) I is incorrect II, III,IV, V is correct

I, 1l seumi HL,IV,V &rfl I geum I, 11l IV, V &ifl

138) Soundara Pandiyan was known for which of the following?

QF6THSIT LIT6U0T LYW 60T 6T60TLI6UIT LI 60T6U (15 6u 6uTeu MM 6L 6TIHS &ITIJ6v0TS S 6uT eV 560T&MIWLILIGSMTF?
A) He was selected as the President of the first Self-Respect conference held in 1929.

1929 @6V HEOLQLIMM (NG6V & WIDFIWLIMENS LOMBITLLG60T HemevalTTHS CHIHOSH&HSHLILILLITH.

B) He was the first person proposing Erode Plan for the revival of Justice Party.

BB &&L AU InmIneTERNG&ES&ETT FCTITH S LG (PTAMABHS NSV BLIT SLEUTT

C) He was the first Education Minister in the Madras state on behalf of Justice Party

Government.
BH&HLF orFer smILleh QFaTenerT IMHBleVEH ) (NS0 SVl AMDESFTTH @ BHS T
D) He was selected as the President of the 1944 Salem conference of Justice Party.

1944 9y1b Le00T(H CFevld BH &S T IOMBITL Q6T HemevalTTd: CHIHASH&HHLILILLTT

139) Choose the incorrect statement from the following.

B LD & & T6voT LI 6oTeu MM 69 (515 &1 &eUMITET Fahenms CHTHAS M.

A) Kuyili is said to have led the unit of women soldiers named after Udaiyaal.

G&UWedl, 2_emLwimeiT eTedTm QLIGtoTS 6fl6tT Liem L LiLliflemeusd semevemnGuimmi auldlbL &S\ eoTmi.

B) Velunachiyar, trained in Valari, Silambam,, Horse riding archery

CausupmEFAWTY, elarl, Hevlbud, GHeFCWMmMMD, WwHMID allevallGamng GuUTaTMaIMMIL Hmenin

QUMMEUTTSH LD elleTmGer .
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C) Gopala Nayak spearheaded the Dindigul League, which was formed with Lakshmi Nayak

of Manaparai and Poojai Nayak of Devadanapatti.

G&HITLIMTEV BTG SHNTS FHeeValTTHS G&TeuL. HeoT(h&H&H6) Fal Lennlilley wevoriLmenmuiler Qeul gLl

BTW&SHLD, CHeUSHTeTLILIL QU 6T LLeme BT&SHIN G LD QUMHMI(HHS6T.

D) After the death of Muthu vadugar, Velunachiyar lived under the protection of Marudhu

brothers.

W53 BT @mbs LIn&, CausbTERWTT DB &FCHEMHTFaH6 lar LIMssTLIL6) eUmDBSTT.

140) Arrange the following events chronologically.

L etreu(pLb Ml&Lpeysemen &meveuflenslilg euflensliL®HSS5a]Lh.

I. Tiruchirappalli Proclamation &Smsfgmlueref] LlFsLeorid
II. Kalaiyar Kovil battle asmemerwimy Gamuiléy Gumy

III. South Indian Rebellion QgarallBEH W HerisH

IV. Kattabomman death &1 L QumbineofledT LOFevorid

V. Dheeran Chinnamalai death Syer & ereornemeVUINET LD T600TLD

A) IV-II-1II-I-V B) HI-I-IV-II-V C) II-IV-III-I-V D) IV-II-I-1II-V

141) Consider the following statements?
LSl 6dTeU(BLD Fa M MG EMET 861601172

1. Abraham Pandithar systematically studied the history of Tamil music and

attempted to reconstruct the ancient Tamil musical system.

TS Uty 5T Sl sulleT sureuTHenm (WNeMMWTS 46 QF IS LIPHEISGT SOlh Gens

jenLienU I0MIGL LemNGS (LW 6EITMITI.
2. He founded the Tanjore Sangitha Vidya Mahajana Sangam in 1912
iUl 1912 @)6L HEhenF FHIGS 6l&WIT DG TR FhIGEMS HlmieNermy,

3. The first Tamil Isai Conference was held in 1943, to discuss the status of Tamil

music.

sl Slemguileir Blemev @GN &SI NUMH LILIGM&ETS 1943 S4lh ,600T(H (P SV SO @em& LMBHTH
HOLQALMMSI.
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4. In 1917, he wrote the book Karunamirtha Sagaram

19176V &HHOTMIATS FMSHIJLD 6T60TM HIOIEV 6T(LD G 6OTITIF

A) Statement 1 and 2 are correct B) Statement 1 and 3 are correct
ol 1,2 0@\ &Fifl Famml 1,3 LW &Fifl

C) Statement 2 and 4 are correct D) All statements are correct

Famol 2, 3 LB\ &Fifl NS G S MMIGHE@BHLD &Ff]

142) The enquiry commission which enquired the kattbomman and Jackson
confrontation consists of

&L LQUTDLOGT IoMMILD BT&EFT CLMHe) GMIHSH eNerflss & myeneor & wealléy
2 ML eTF&Hen s @) (HHES 6T 6T Wmeun?

I.William Brown II. William Oram III. William James
eflébedSlwLb LIQFerredT efleLedlWLh eTID efluedlwib kL6
IV. Casamajor V. Edward clive
STerumGLnRy T euiL Semereu
A) [, II, IIT and IV B) I, IV and V only
1, 1L, 1 oy 1V LIV iomoih V ol (Glb
C) I, IIT and V only D) LII and IV only

I, I oo V ol G I, I loHmild IV 10l @Gl

143) Consider the following correct statements regarding V.S.Srinivasa sastri?
A edreumeusoreummilev V.S. wienfleumrs gmeru& il umn) Eflwimesr gammi&ener CHTASH?
1. He was known as Moderate of all moderates

56T &EHEHEASHITD WSUTHWITS MWL LITF

2. He founded the first co-operative society in India

Uy QHH Wmeller (PG Sal MY FRhISS5mS Hlmielleor iy

3. He started Tiruvallikeni Urban Co-operative Society in 1907

1907 6L B (HeUeLENE&CH eI HSHEFTLILM Fal (HMEY FHIGHSHMS G\ TLMEIG6TTT

4. He Started a magazine called Indian Review

@ HH WeT Qrellw, eredTm LIS S fl&em 60l Q&ML MBI 6TITT

A) 1,4 right 2,3 are wrong B) 1, 2 are true, 3 ,4 are wrong

1,451, 2,3 seum 1,2 &1fl, 3 4 eum
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C) 1, 4 is wrong, 2, 3 are right D) 1, 2,3,4 are right

14 eumy, 2, 3 &rfl 1,2.3,4 &1fl

144) Consider the following statements regarding George Joseph

2TrR CumELl LMmMlw eTeuhLh 3N & emn s & emeTd: &6 6ol L b & 6T

1. He was born In Sengannanore at calicut district.

CaumAl&ECHT(H LML LGB 6V 2 6TeT Q& Mm% evoreorsarniflev LAmBSTI.

2. He Started Homerule Movement at Madurai in 1918

1918 @6V L GIeTUN L SHETOTTLET QW HHS MBS G\ TL MBI 6T

3. He formed Madurai Labour Union in 1916

19166V LD GI6eOT QG TLHEUITETT FhIS S NS 2_(IH6UTE H 6T T

4. He Organised Vaikkam Satyagraha on 1924

1924 @6 MEUGSHID FHHWTRTHSHMS FHUTH QEWSTT

5. He Championed The Cause Of The Criminal Tribes Of Tamilnadu

S0P BT L9607 SMHMLUILITIDLIENT &L 8 migerfletT LTS8 meueuy s a6 s eormy

6. His Nick Name is Rosappu Durai

urg LULLLUQUWIT COmEmLiL Sleny

A) 1,4,6 correct, 2, 3,5 wrong B) 1, 2,5 correct, 3 ,4 ,6 wrong
14,6 &, 2, 3,5 HauM 1,25 &0, 3,4 .6 Heum

C) 1,2,3 are wrong, 4,5,6 are correct D) All are correct

1,23 s6um), 4,56 Fifl Semers I Fifl

145) Ore deposits

Ramanathapuram - Coal Deposits

Cauvery Aquifer Oil (&) Natural Gas
Kollimalai, Palanimalai Bauxite

Thoothukudi, Virudhunagar - Gypsum

Trichy, Vellore Magnesite

Which is wrong

A) 1,2,5 B) 3,4,5 C)1,3,5 D) None of these
BMGI LILG.6| &6l

1. @ TOBTSL T - mBleva sl Lgesser

2. &mGeurfl BT LGOS - 6TEUOTQ 6UUTLL (10) @)W MM & 6UITW
3. Q@& meuedllnemeu, Lipeulllnemey - LIM&enEFL
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4. 81581661, ANGSIHST - gluFd
5. HHFF, Ceuguniy - GLO&ETEnFL
A)1,2,5 B) 34,5 0) 135 D) 678164 L0 6063I6V

146) Which statements are correct?

Fiflumer sgammisemner CHTAHH?

1. In 2008, India became the first state to set up a Welfare Board for Third Gender
@ BB WTealCeuGW (LNG6V LOMBleULNTS 2008 6V CLNEITMITLD LIS 60TS S 61 (58 & T6uT [H6v eumflulh
SMNEGSLILILL G

2. In 2009, the government passed an order to create a transgender department in
the college
785 sevaunfludlev epermmib LImedleorg g euly ereorm LAflemeu 2 [Heumd s 2009 6V 460607 LNMLILN S & 51

3. In 2017, Manonmaniyam Sundaranar University started a free coaching center
2017 6V LOGEUTITEOTIO6UOTWILD S HSTEUTIT LIV&MELESHLNSID @ eveus LWMEF enwwsens
QS ITL MG W 6Ternsl

4. Riya is the first transgender to win local elections
2 6T G55 6060 Qeummleniu QUMM WH6L H(HHHEIens Flwm

5. The Transgender Award, which will be presented from the year 2020, will be
presented on April 14
2020 1b 31,600T(H (NS6V aULPEISLILIGLD SH(HHHEIeNS aSl[HS FLIT6L 14 LD HITET eUPMBISLILGSRMSI

A)1,3,4,5 B) 1,2,3.4 0125 D) 1,34
147) Who led the Harijan temple entry protest in Madurai?
wgienruilev amiflRe6r LW Blienpea CUTTTLLS6mS HL &S Wweuy
A) Kakkan - 1939 B) Poovalingam - 1937

&H&H 60T — 1939 LLeuedimisGsLD - 1937
C) R.S. Nayudu - 1937 D) Vaithiyanadha iyer - 1939

RS. BTW(® -1937 MEUSHWIBMTS W — 1939

148) Choose wrong statements

SUMTET FaHenMsS C5THASE
1. Green Tamil Nadu campaign started in September 2022

U6 SENHBITE @UWSH S 2022 QFLLLUN QGTLESLD

2. For this, a new special purpose organization will be created by the state

government at Ariangar Anna Zoo

@5M&ETE MEHT 3jevorevorm 2_ulflwe Lkismallév IDMmlev SFFMeL LS W FmLiL CHTEHS

iemoLIL] 2 (HeumsH L0

Page 61 of 77
https://t.me/ChinmayaTnpsc




CHINMAYA ACADEMY FOR CIVIL SERVICES

3. Target — 33% replacement of forest cover in 5 years
CHM&&LD - 5 9y,evorH&6rleL MM S&erfleT LFLiemu 33% LOMMH MIgHe60
4. One of its goals is a paperless lifestyle

©) 56T @6V &S 6rTl6L RETM HITE G LAGLEVIT CUITLD & 6N & (LD MM

A) 124 B) 24 034 D)3

149) Who is referred to in these statements?
L etreu(pLb ammigerfley &ML LL@GuUeUl wmi?

1. She Conducted Siddananda Hospital in Chennai

FHSTAOTHS MaUSB W FTemevenll G &FeiTemeorudlev HL &S W6,

2. Organized the Tamil Nadu Women's Conference in 1938
SLOILDBTH GLI6UOTS 6T LOMBITL 6L 19386V [HL & H W eI,

3. Condemn the low wages paid to Tamil teachers.

SOl TA WS EHSE 6uLpkEISGLILGILD (& 60 MEUITET 261G g 605 8 600TLY.8 86U IT.
4. She gifted her house to the Karanthai Tamil Sangham

&IHensd SO FRHIGSSIHEG T @evevsans Lflems 3 6rflsseurr

5. In 1951, titled as ‘Veerathamizhannai’.

1951 6L ST HLEPETTEMEDT LILL LD QUMMeEUIT.

A) Muthulechmi Reddy B) Sivagami Ammal
WS QL Floussmil SiLbLomeT

C) Padmasini Ammal D) S. Darumambal
LIS L0M& eofl 9D M6 S. S@GLOTLDLITET

150) Kalaingar Centenary Library

a. 2nd Floor - 1. Tamil Literature Section

b. 3rd Floor - 2. English books, Research Journal
c. 4th Floor - 3. Competitive Exam Papers

d. 5th Floor - 4. Electronic books

5606V (GHIT BNMHMTetoT(h HITeL& LD

a.2lb gemh - 1. 6D BHeL LKfley
b.3 1D Gemd - 2. 9LMES6V BTV, JTTLFF @ LD
c. 41D gemd - 3.CUMLLY C5J6Y BI6LH6T
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d.51b gemh - 4. WSedrevTen Bev Lifley
a b c d

A) 1 3 2 4

B)

C)

D)

151) Who are all the recipients of Rao Sahib Award

SBLh s evoTL Ul erfley Fmeu FM&HLU e (h S QUMHMEUITSH 6T

1. Rettai Malai Srinivasan @rLenL nemev G evlleumeeor

2. Mayilai Chinnathambi Raja wuflenev R ereorsoly Frgm
3. L.C. Guruswamy er6v.6.@msFmL

4. V.I Munusamy Pillai ei.g..psusmd ertemer

A) 1,2,3 B) 1,2,4 C) 2,4 D) 1,3

152) Who is the Tamil Nadu freedom fighter woman mentioned in the following
statements?

edreu(mld ammisefley @MIUNLLILGWL 16108 &S5BS T CLUMTTLL GLI60oTL06001 WITH?
1. Madurai Harvey mill protest led by her

wgieny anmieil e CUTTTLLSMS HeM6VenLn IThIS Ty

2. She fought against landed aristocracy

Blev YTUS SIS MG TS TTe CUITTTIGWIEUT

3. First South Indian woman to be arrested under National Security Act

CHFAW LUMFZSTULEF FLLSS 6T S ems g5 QEFWIWLILILL (NS Q& 6iTeol1hS) W G LI6voT L0 6vol

4. After independence, she became involved in politics and became a member of the
Legislative Assembly

&EHBISHNHES LNNESG ATA WL FRULG FLLLO6TM 2 ML 6T Sy60TTIT
A) Padmasini Ammal B) Sornatambal

LSLM& el SiDLOMmeT Q& MTT6U0TS ITLDLITEIT
C) Ambujathammal D) K.b Janaki Ammal

I|INL|RE S DLOTET G&.19 RmeTs | OLmeT
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153) False statement about nutrition plan

&5 5160076 S L LD LMW &euMmITeT FnMml

1. It was first started in November 1925 by Thiagarayar Reddyar

WG 6T (NFH6916L 1925 HeULDLIT LOMSLD GWISFTWT QLIGWITTTE QSTLBISGLILLL I
2. Kamaraj started it in 1956 in Ettayapuram

STITRT @ H606T 1956 @6V T LWLTHH 6V Q&ML MBI 6Ty

3. In 1984 the scheme was changed to benefit classes six to ten

1984 @6V @SH LD SL,MI (NG6V LIS STID 6UGLIL| UM 2_6T6IT LOMEUOTITE & LW 60T6m L
LrHMLIULL SI

4. In 2003, the Supreme Court ordered implementation of this scheme across the
country

2003 9ylh o4600T(H 285 BHHLn6eoTm 2 55 Feller LG BTH (PWeUSID @&H L LD
QFWLRSSLILILL S

5. In 2012 - brought under National Food Security Scheme
2012 o4lb 94,600T(H CHEFW 2 600TeYy LIMSEISTLIL HLL &S 60T GLh Q& mevor(leuLILILL I
A) 1,3,4 B)1,2,4,5 C) 1,3,5 D)1,4,5

154) Which is the Correct statement?

gflurer smeoms C5THOSH?

1. Tamil Nadu State Policy for Women was introduced in December 2021
SO0 811 GILI6U0TS: @5 & & IT6UT LOMIBleVE: Q& MeTemss L. &FLLIT 2021 @6V Q& meuoT(R UL L I
2. Bringing one crore women into Self Help Groups

@(H C&ITLY QILIGTITS M6 & 2 861 (& (08 86158 G 6T Q& meuor(H 6 ([HSH 6V

3. Reduce dropout by 10% every five years

@enLBlHMmene RATH BHSI SET(HILD 10% GOME S 6

4. Support at least 2000 researchers from socially disadvantaged sections

GBS 2000 FenG S H 6L LNeTHHmIS W FeNsESH L @ UBHS UIBLD T TILEFR WITETTSEHE S
EYR-1, (5

A) 1,2,3,4 B) 1,2,4, C) 1,2,3 D) 3,4

155) Identify the Colleges which are incorrect depending on location
S1h GMILLNLL seuunHl&6T Heummerrgl OemedlLMigGemeT QUITMIS S SHeUMITETS 6T5I1?

1. Indian Institute of Technology- Chennai
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QBB W QFMHleL BIL LI &HLp&L0- G F 60T6m 60T

2. Forest Research Institute - Coimbatore

&STMH SL,TTWESF Blmieueorid - GHMWIDLSSHTT

3. National Institute of Marine Technology - Mandapam Camp
CHFW &L6L QAFMH6LFHIL LI [Flemeuwlld - L06voTLLILD G&LLI

4. Central Marine Biodiversity Center - Mandapam Camp

LSHW &LOFTT Leuspuily Blemeuwlid - LOEUOTL LI C&LDLI

5. National Tuberculosis Research Institute — Chennai
CHFAW STFCHITW SLTTUFS H]MI6u6rTLD - G\ &F 60Tt 60T
A) 2 B) 3 C) 4 D)5

156) Which statement is correct?
Fiflumer gamml 615l
1. Establishment of Slum Replacement Board in 1970

1970 o1 3L600T(H SL960&F LTMHM uTFlWLD 3|65 560

2. Introduction of Rural Electrification Scheme in 1969

1969 @)6L GO LA6OT LDWINMSH S G LD 9M(nsLID

3. 1971 Beggar Rehabilitation Scheme

1971 V& &SH ST IDMIUTLDe] GIL L LD

4. Passage of the first resolution for State autonomy in 1971
LOTEl6v S6tTeor ML & &ITeuT (LNS6V GITInmeurd 1971 @) 6L BlemmMGauMmmLD
5. Housing and Development Corporation since 1975

i@ eusES® Lmmih CUML® HLP&LD 1975 (NSH6V
A)1,2,3 B) 2,3,4,5 C) 3,4,5 D)1,2,3,4

157) Match the following.

a. Centre Institute of Cotton research - 1. Gujarat (Junagadh)

b. National Groundnut research centre - 2. Uttar Pradesh (Lucknow)

c. National Maize research centre - 3. Maharashtra (Nagpur)

d. National Sugarcane research Institute - 4. Hyderabad (Telangana)

L9l 6dT6u (I 6UGTTEUM MM QILIMT(H S S LD.

a. U555 TTLEFF emlow [Blmialeorid - 1. 520MS (TOaTMSHE)

b. G W Mlevs &L M6V YT MILEFS emloWLD - 2.2.557U NFGHFID (& G6UTT)

c. GHAW GEHTECFTETID L TMIER emowid - 3. DSTFTAQLTIT (HTHLLT)

d. G5H\W SH(BLOL b TTILES Bl mieueorid - 4. QNS TTUTS (O 8V LIS T6OTIT)
a b c d

A1 2 3 4
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B) 2 3
)3 2 1
D)3 1 4

158) When did new Environment Impact Assessment notification was started by Union
Ministry of Environment and forestry?
LHHW HFHMEFGS:LOD LDMHMID UATSSINM MDFFHSHSTOL LT W SHFHNIFGLN6 HMTHS HUILTL®H
ALY eTUICUNSI QS MTLBISLLLL &I?
A) September, 2006 B) October, 2007

Q&LULLhUI, 2006 315@Lmur, 2007
C) November, 2008 D) December, 2009

BeuLDLI, 2008 lQ.& DL, 2009

159) Match the following (Sustainable development Goals )
a. Pure and affordable energy - 1. Goal 7
. Climate Action - 2. Goal 9
. Sustainable cities and communities - 3. Goal 11
. Sustainable consumption and production - 4. Goal 12
. Industry, Innovation, Infrastructure - 5. Goal 13
L9 606U (H 6u eOTEU MMM LI G LIIT(H & &I M1 & 6iT (606U WITEOT 6U6T T&S B)6V8 & SH6T)
ST Lmmilb wedley SLMMeL -1.QVES 7
&T6UIBl6M6V [HL6LLY.& 605 -2.Q05E 9
IBl60Y6V WLIT6OT H& T MBIGET LOMHMID FENSHBIGET - 3. @ 6v&ES 11
Blem6ULLITEUT BIGIT6Y LoMMILD 2 MLIS S - 4. QeusE 12
Qs5MN6, UHSMEELID, 2 6TsH L LemnLIL| - 5. QeusE 13

a

B)
Q)
D)

160) How many pairs are correctly matched?

1. Austric Family - Kurukh and Gondi

2. Indo-Aryan Family Urdu and Sanskrit

3. Dravidian Family Bodo and Karen

4. Sino-Tibetan Family Hindi and Or

A) None of the above B) 1 Pair C) 2 Pairs D) 3 Pairs
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6158 60)60T (@) 60)600T 61T &I WLITE LI Q\LIIT([H b &1 G 60T M 60T?

1. e ifl& GG WLULD - GBS MHMILD C&ITeToTLY

2. @HCsT-oflw G@EULUL - 2 (S LDHMID FLEVHHSLD

3. s\rmeilL @@ UL - GUGLIT LMHMILD &EFedT

4. Ear-HlOUSH W GHLUL - @HS wMmmib erflwedr

A) GLOG6 616D @)6L6DI6V B)1 @) 6t 600T C) 2 ©)60)600TSH 6T D) 3 ©)60)600T&H 6T

161) Where is the Fourth G20 Conference on Environmental Protection,
Environmental Development and Biodiversity Promotion 2023 was held?

SHMIFGLP LUMSISTLL, &MOHMEGL0 CULUMEG LMmmMIb Lswullf QU@BSSID 2023 QML ITLIT6T
BTeOTHMeU S G20 LOMBIT(H 6TMHIEG HEOLGQLIMHMSI?

A) Chennai B) New delhi C) Goa D) Mumbai

Q& 6tT6m 60T L&l QL6vedl @& meur (WLLhemL

162) Consider the following statements
LS 6dTeU(BLD FanM MG 6MEIT &6 60T MBI & 6T
1. It is about 40 km wide in its eastern and western extremities and about 225 km wide
in its central part
B8 3|56T FP&HG WLMMID CLOMEG (WNem6erseTleu &MY 40 B ISHeV(IPLD IH60T ST W LIGH ullév
&LOMY 225 B S|&H6V(NLD QSHMETOTL Sl
2. The rocks of this region contain fossils bearing marine sediments which are
underlain by ‘Tertiary granite’.
AHSL LGHUN &L 6V 6UEITL6VEEM6ETE G185 TEU0TL. L|6h&LILG6UMISGEHLD PLNETMITID Hlemev ST memenTL.
LITemM& EBLD 2 6iTermeor.
Which of the following Himalayas branch was not matched with above statement?
edreu(pLh 6THS @)L0WLneneuuiletr LGS GLomda W a M mIL 60T QLIT(HHS e 60emeu?
A) Trans Himalayas B) Middle Himalayas

1Q [T IT6BT6MY @) L0 U LD 636V IDSH U @) LOWILNEDI6V
C) Tibetan Himalayas D) Western Himalayas

FOLSTUI @) LOUILDEDIEV GMG @) WLNE6Y

163) Consider the following statement
LS 6dTeU(BLD FaM MI6OLIS & 6u 60 Mi g5 6iT

1. India Energy week conference 2023 held at Bangalore

QBB W erflEsE S eury LMHTH 2023 QLIRS eEB 160 HeOLALIMM S
2. In 2023 India’s Energy week conference, Prime Minister Narendra Modi started the

Ethanol blended Petrol
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2023 @B W melletr eTiflE&S) UMY WOMBITL L6V, 6TSHE60TIT6V &HeVIHS QLILGITev eflMmLiemetTemwl LN LOF
BCIHS T CLOMLY QSTLEIS cneuSHSTT.

3. India's first hydrogen production plant from solid waste to be set up in Pune

B L& 8106y &erfled (BHh & @) HS) W melleir (L& 6L ML [FR6T 2. MLS S aL6m6v L|Geurellé

MG LILIL 2 6Tems)

A) 1, 2, 3 is true B) 1, 2 is true and 3 is false

1,2, 3 &1 1, 2 fllnmmILd 3 HeIMTETS
C) 1, 3 is true and 2 is false D) 1, 2, 3 is false

1,3 flloMmILd 2 HeummeTsl 1,2, 3 Mg

164) Match the following (India’s land border)
a) Pakistan - 1. 3488 Km
b) Nepal - 2.3233 Km
c) Bhutan - 3.1751 Km
d) China - 4.1643 Km
e) Myanmar - 5.699 Km
LS etTeu(peustTeuMemnmMLI QUIMTIHS ! (@) 1H S W melledr Hlev eT6Lemev)
a) LTS 6rv g medT - 1.3488 &.18
b) GHLIMETLD - 2.3233 &5
) L, LITedT - 3.1751 @15
d) Eeormr 4.1643 &.16
e) wimedTLO 5. 699 &).15
a d
A)
B)
C)
D)

165) How many pairs are incorrect from the following?
1. Jog Falls Saravati River

2. Sivasamudram Falls - Thenpennai River

3. Thirparappu Falls - Chittar river

4. Courtalam Falls - Palaiyaru

L9 65T 61 (1H 6L 60TEU M M 6V 6TH> 5 6MEUT @) 60I6TVTE: 6T T EUMITSH 2_6ITEIT60T?

1. GRMs |@Heil - Fraus oLmi

2. PauswsH Ih Si@mai - Q15 60TGILIETOTEm 6T0T Y, M)

3. {Hurly e - BHomm
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4. GHMMeVld 3BT - Uempwimmi
A) 1 pair B) 2 pairs C) 3 pairs D) All the above

1 @) 606007 2 (39)60)600T 56T 3 ) 60)600T 6T GLDB6V 2_6ITET 2(6060TSH SILD

166) Consider the following statements

LSl 6tTeU(BLD FaM MIG6MEIT 8566011 MBI & 6T

1. Marine yeast have greater potential than the terrestrial yeast.

&L60 F6rVL. BleuILyLUL FFeluenL. el 958 3L,MM6L Q& ITEOOTL Sl.

2. They can be used in bio-ethanol and pharmaceutical protein production

Slemeu LIGWIT- 6TSS60TIT6V DM MILD (S SI6U LTS 2 muUsSHulleh LweTU®RSSLILILEUITLD

3. Ambergris is an extract from the sperm of the whale is used in perfume Industries

SbuTG e ereru g SN g es S et alh s el Bhs LNE0sMH&sILLH FTMI,6UTF 606

Qamhihememeusefley LWeaTURSSULGSMSI.

A) 1, 2 only true B) 2, 3 only true C) 1, 3 only true D) All are true
1,2 b ®Id &ifl 2,3 L@ & 1,3 LB &if TSI Fifl

167) Choose the correct one in the following (Angami)

LS etTeu B euctTou MM 6L FlWMeTen s s C&THASH &S LD (mISmLdl)

A) They belongs to the extreme north eastern part of the country, in the state of Mizoram
Sjeuiser IEGFTIID MBleVSH6L 2 6iTem BITL 1607 FallT aUL HP&ESG LGB emg CFTHSeUT86T

B) They are known as the Lachenpass and Lachungpass

@QUFTSHET GUITEQFET LT LOMMILD VTS MBILITEN 6T60TMI | 6mLP & & L11LIH G edrm et

C) The total population of them is around 12 million and are quite popular for their woodcraft
and artwork

Iaursefler QMESS &HSHTASHTME &IMF 12 Wevedwer WMHMID alfseflear FCalens) WMHMILD
SV L LIL& 668G &6 D LIFLIeULDTeTeU & 6lT.

D) Bagah and Dasin are the major festivals of this tribes

LIM&IT LDMHMILD STH 6T @55 Lo ufleorfl6or (N85 LI LI6D0TLq 60858561

168) Choose the incorrect pair in the following
L9 6BT61 (1H 6 60TEU M N 6V F6UMITETT &) 6M6TUT6MLG BT H Q& (H & &6 LD
1. Bangladesh - Assam, West Bengal, Meghalaya, Mizoram and Tripura

LUBI&SeTTCSH 6, - S|FMD, GLoME UMBISGTETD, Gasmeuw T, WGF T whmid S iflyym
2. Pakistan - Ladakh, Jammu and Kashmir, Himachal Pradesh and Punjab

LIM&)6rV S IT60T - ULIMTE, QLD LM MILD STagliy, @UrFFe LNFCHFID IMHMID LIEFTL
3. Afghanistan - Jammu and Kashmir

LIS Meufl6ru G IT6dT - QLD &HTaq ST

4. Nepal - Uttar Pradesh, Uttarakhand ,West Bengal ,Bihar and Sikkim
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GIHLIMEITLD -2 55T9ICHFID, 2 558 TeorL, GLOME eumIGMeTLD, Li&mF nmmib S &S LD
A) 1, 2 only B) 2, 3 only C) 3, 4 only D) 1, 4 only
1,2 (LD 2,3 L (LD 3,4 DL (D 1,4 (LD

169) Arrange the rivers in India in descending order based on length.
@ HH Wmellev 2_6iTer [H B & emer If6rmg B 6T 9419 LI Lullé @ Mm@ surflem&udlev eurflem & LiLI() & Sk & 6T
1. Indus 2. Ganges 3. Brahmaputra
FbHal -3 1T70): WKigbwuyss o
4. Godavari 5. Krishna
Gz meurfl )\ (15 619.600T IT
A)2,4,5,3,1 B)1,2,3,4,5 C)2,3,1,4,5 D)1,3,2,5,4

170) How many pairs of the following are correctly matched?

1. Vaidehi and Sengupathi - Madurai

2. Kalikesam and Thirparappu - Tirunelveli
3. Catherine and Pykara - Nilgiris

4. Kumbakarai and Suruli - Tenkasi

A) None of the above B) 1 Pair C) 2 pairs D) 3 pairs
L9l 60T61 (1 6 60TEU M NI 6V 6TH> B 6MI160T @) 60Y600T S 61T FIf1 LIS LI QLT IH 1 65) 60T ) 60T?

1) meuCHH IDMMIID QFRIGUS - L0Glen T

2) smeflGa&s&FID LMHMIL SHUTLIL - SHABLGCIE

3) Ga&GIfletr LMHMID eUETFT - BeuS

4) GOUISGE T LM MILD & Herl - Q5aTHETEH

A) GLDG6V 6TSIA|LD @)6V6M6V B) 1 @) 6m6v0T C) 2 )60 60075 61T D) 3 ©)60)600TEH 6T

171) Choose the incorrect one in the following

L9 6dT6U (H 6u 6OTEU M M 6V &6UMITEUT RETENMS CH TGS (H & &6yl
A) The word petroleum has been derived from two Latin words petro and oleum .

QULGTmEIWILD 6TedTm Q&ML QUL GTT WMmID el & Greor(h uSFH6T QMg s o6rTledmhal
QuUMUIUL L&
B) This oil obtained from rocks of the earth is also called mineral oil.

widlulesr  umemSafleO@Bhs  QUMLILEGID @HS  6TeorGeoril  SHeoflln eTeuoTQleooTl  6T6dTMILD
MPESILGER DS

C) It constitute 70-80% of petroleum and the remaining 10-20% is chiefly organic
compounds containing nitrogen, hydrogen, sulphur and traces of metallic compounds

@& 70-80% QUL GImESWLD mmID LHp6TeT 10-20% (NSHPUILDMTES 6MIBL_ 60T, QML 6T, SHbHHEHLD
MHMID 2 CeVITE &H6VeM6IGH6ITI6T G ILIBISHEMETS Q&MevorL Sl GFTIOMBIGHET Y GLD.
D) It is used in manufacturing kerosene, Vaseline, tar, soap and terylene
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@) LD6UIT G 600TE00TGl6TITLL, GUTeNEem6V6dT, ST, GaFmLiL WMmmIb QL flefer S weaimenm 2 HUSEH Q&Fuiwl

LwWeTU®SS LGSR M.

172) Consider the following statements
LSl6dTeU(BLD FaM M1 &5 60)6IT &5 6L 60T UL 151 &5 61T
1. The Gaofen 4 is the world's most powerful GEO spy satellite
Gaofen 4 eTaiTLIGI 2 6V FH 60T WG 6D F&HBHeUMIHS Liefl 2_6Me| QFWMHen&8CHITET I, &L
2. It was launched in Space in the year 2015.
@51 2015 941b oL600T(H 68l 6voTQ6uerluf6v gFeuLILIL LS.
3. This satellite will also allow China to monitor strategic foreign sites
AHS QFWMGEHCHTET FaTm QeueBITL(h &6ITHISGeM6IT & 600T8 Teuul1858 ULl &G L.
A) 1, 2 is true and 3 is false B) 2, 3 is true and 1 is false
1,2 #fllnHmILd 3 HeUMTETS! 2,3 &fllommid 1 HeUmmers
C) 1, 3 is true and 2 is false D) All are true
1,3 #fllhmib 2 Heum eSS &ifl

173) Arrange the following states based on urbanization
H&TIOWILOME 869 60T 9)1qLILenLullév LSetTeu(pLd WOMmleurkigemeT euflen&lLI(H &S a]LD
1. Tamilnadu 2. Maharashtra 3. Goa
SLOLDBTH D& TITITE.Lq. [T IT C&meurm
4. Kerala 5. Himachal Pradesh
G& eI anrgse NFEs &L
A)1,2,3,4,5
B)3,1,4,2,5
C)3,4,1,5,2
D)1,3,4,2,5

174) Match the following (Earthquake)
a. Zone 01 - 1. Uttarakhand

b. Zone 03 - 2. Rajasthan
c. Zone 04 - 3. Tamilnadu
d. Zone 05 - 4. Banglore

LletTeu(peustTeuMemnmMLI QUGS ! (L, SLOLILD)
a) L0evoTL6uLD 01 - 1. 2.5 575MevoTL

b) L06vOTL6VLD 03 - 2. 61V 5 MedT

€) LOGUOTL6ULD 04 3. OLLBTH

d) LoevoTL6uLD 05 4. Q\LIMIGe615 T
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A)
B)
C)
D)

A) 131 B) 89 D) 91

176) Find the mode of 22, 25, 21, 22, 29, 25, 34, 37, 30, 22, 29, 25 and 22.
22, 25, 21, 22, 29, 25, 34, 37, 30, 22, 29, 25 and 22 O W aaTsar WsE
A) 22 B) 21 C)37 D)25

177) If 3 men or 4 women can build a wall in 43 days, then the number of days taken

by 7 men and 5 women to build the same wall is

3 31,600T& 6T 9|6V6VSI 4 GILIGUOTS: 6T 43 HITL& 66V 6(IH SeU6MTEH SLL (LPLGULD 6TETMITEV, 7 3I,600TSEHLD 5

QLICUUTS @HLD S EFFHeUMTEH &L T(HSHS HITL86r60T 6T6voT6uul 8 60 &

A) 12 B) 36 C) 24 D) 18

178) What is the number of conversion periods, if the interest on a principal is

compounded every two months?

S F6 LSS TET aULLY @) T60oT(h) LOMSHMIHERS S B (P M ol L LILILLIT6V, OMMHMILD &IT6V kIS 6rfledr

6T600TEU0T 1 5560085 6T60T60T?

A) 2 B) 4 C)6 D) 12

179) If 235 = 38 and 452 = 45 then 354 = ?
235=38 oM MILD 452=45 eT6vrl6L 354=?

A) 49 B) 66 C) 72

180) Find the 7th term of the series 0.12, 0.012, 0.0012
0.12, 0.012, 0.0012...... eTédT QSTLI euflemaudlev 7 - 6ugI eTevoT

A) 1.2 x 106 B) 1.2 x 10-6 C) 1.2 x 107 D) 1.2 x 107
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181) If the highest common factor of 65 and 117 is expressed in the form of 65m +

117n, then find the value of m and n?

65, 117 9L F W erevorT& 6rfl 60T LSLIQLIM QLIS STiFevorluflemenr 65m + 117n eTedTm

A) 3,2 B) 3, -1 C) 2 -1 D) 2, -3

182) LCM and HCF of two polynomials are x6 — 1 and x + 1 respectively. If one of the

polynomial is x3 + 1 then the other polynomaial is ?

B\ LI MILIL|& Gamemeusserledr 1§.QUIM.L0. (LCM) oM MILD L5.QUIT.6U. (HCF) 9@ weor (pemmGul x6 — 1
LMHMID x + 1 JLGWD. @ CHMemel x3 + 1 6Tevfl6L LLHQAMTIH GG T TSI ?

A) x3-1 B) (x3-1) (x+1) C)x6-1 D) (x6 - 1) (x+1)

183) The side of a Rhombus is 10 cm and the length of the diagonals is 12 cm. find
the length of the other diagonals ?

FTUEFSITSS 6T LGS 3i6ma 10 Q&F.15 LoMHMID @ enemevelll L g B e Herih 12 Q&F.15 erevflev
LMHAOMTIH epemevedlLL &S 6ot f6rseng &Teuors:

A) 4 B) 8 0)12 D)16

184) Neelaveni goes by bi-cycle to her school every day. Her average speed is
12km/hr and she reaches school in 20 minutes. What is the increase in speed, if she

reaches the school in 15 minutes?

BeuGeueuull HeorhCsMmMILD LG euevoriguilev LieiTerfls: G & QaFeL @ mmeT. 3jeueng FrmeEifl Geussln 12
&).15/10600] 91,8 @) (BIHS TV, S| aU6T LieTeflemw e Q&FaTMemL U 20 BILIL LD SLFBMSI. S|6u6iT 15
BIELSS 6L LeTaflem & QEFTMENLHS T I|6uensgl 9B &5 GeusLh eTeueU6Ta?

A) 12 km/hr B) 16 km/hr C)24 km/hr D)20km/hr

185) (x - 3)2 + (y —4)2 + (2-5)2 = O Find x+y+z = ?
(x - 3)2 + (y -4)2 + (z-5)2 = 0 eTevfl6L x+y+z = ?

A) 60 B) 5 C) 25 D) 12

186) How many ways can you answer five TRUE or FALSE questions?

Fflwm? Seumn? FaMis eretr 5 CH 6Tl &6 @)\ (H&HRTMmeT. @\hS BHS CHeTall & EH & GD QLTSS
615 5 6meuT Nl LOMeT LISGLSET ST (LNLgWLh?

A) 10 B) 5 C) 25 D) 32
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187) M is the daughter of N, O is son of N, also father of P, what is the relation
between P and N?

M eTedT LI6U T N6OT L0& 60T, N 60T L& 60T O, Lo MILD O, P6dT JLILIT S4,6UITHT. P LM MILD N 65T Q& ITLITL] 6T60T60T ?
A) Grandmother umiig B) Mother sjbwomr

C) Aunt o5m5 D) Sister #G&nsf

188) How many triangles are there in the given figure?

GG A&MTH &S LILLHETET LIL &5 6L 678860607 (L &G &5 T600T MBI & 6T 2_6IT6meur?

A) 5 B) 10 C) 15 D) 20

189) The radii of two circular ends of a frustum shaped bucket are 15 cm and 8 cm. If

its depth is 63 cm, find the capacity of the bucket in litres.

@ H @) 6088 60oTL. aulgedlevmeor eumerflufledr GLOMLIM LMMILD SIGLILIM ST HEISET NemmGCLU

15 Q&5 MHMID 8 QFLS CLOSYILD YLD 63 QFLS 6Teull6L 3| & 60T QG MeTeTememeu 691 LIfl6L &mevors. (n =

A) 2.6994 60l B) 26.994 &l C) 269.94 60 D) 2699.4 69

190) A cube painted white on the upper face and red on the remaining 5 faces, is then
cut into 27 smaller cubes of identical sizes. How many small cubes are found to be
painted only one face with red and the other sides remains unpainted.

R HTFSITIOMeTSl @G TG FlWmeor 27 &6UTEFSITHI& TS Sl6toT(h CUTLUILGSMSI, 5656
OBHS SeTFSITID CLML LD GQeUaTEmETWITSELD MM 5 LIGHSKISET FleulILITHa|LD 6UIJ6vorld
WEUUL I BHSS. P Heor &7 ES6fleV 6785 6mer G @ (h LIS FleuliLIMgeayLd Lnmm
L1885 M1 & 61T 6UIJ600TLD LL FLILILITLOSYILD @\(H&(&LD?

A)9 B) 5 C) 3 D) 1

191) A sum of money doubles itself at compound interest in 15 years. In how many
years will it take to become eight times?
@ QFMens 15 eu(BL MG 6erlev Fal BleuLl Ll 65585 H 6L @\ (H L BIGTER M 6616V 678 5 60160

UL MIG6r 6L 8 IDLMBISTS LOMMILD?
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A) 40 years 40 gyeor(H)&H6T B) 30 years 30 sy evor(hsse
C) 55 years 55 oy e00r(h &6l D) 45 years 45 oy evor(h &6l

192) A man invest Rs. 1,00,000 in two different ways. From one of that way he earned

9% income and from the another way he earned 11% as income. These two incomes
was equal to the 9 % % income of the total investment. Then find that two investment

amounts?

@HeUr em. 1,00,000 - 23 @\ eu&erflev (NG eSEH QAFWRMITT. 60TMI6L 9% 6U(BLOITEOT(LNLD
LMHAMTETMI6L 11% UIBLOMETINLD QUM MTT. @) 6u el Fevor(® eUBLOMET(NLD QLTSS (P& 6ESL.19.60T 9
3/4% &101D eTetrl6vL (NS5[ 56T eTeU6UETEY?

A) Rs. 52,500, Rs. 47,500 B) Rs. 62,500, Rs. 37,500
C) Rs. 72,500, Rs. 27,500 D) Rs. 82,000, Rs. 17,500

193) In simple interest 5,600 increases to 6,720 with 6% rate of interest per annum in
how many years.

6158 60160T 31,600T(H & 6116V erp. 5,600 31,600T(H & (& 6% Hevrlaul L efFHHFH 6L €. 6,720 31,5 2 WI(HLD.
1 1 1 1
A) SZ B)3E C)3—3 D)l;

194) Thirumagal's mother wears a bracelet made of 35 red beads and 30 blue beads.
Thirumalgal wants to make smaller bracelets using the same two coloured beads in
the same ratio. In how many different ways can she make the bracelets?

S serfler Sl 35 FeuliL] Oevol& 6T LMmILD 30 Hev 06l &en6Td Q& MTeToTL 601888 TLIL|
il H (BHSEBMTT. BHLOSET 3CH ANAHHH L PN M&HSHSTLIML 3G G)(H 6L 600T6U0T

6ol &HememLl LIWeTL®SHF Qe eNl(pLLSHMITET. S| EUETITEV 6785 em6iT QeusuGeumi euldlsGerfleu

M&HETLIL|&HeM6TEF Q&FLlWw @) wsyiln?

A) 3 B) 4 C)5 D) 65

195) I have a box which has 3 green, 9 blue, 4 yellow, 8 orange coloured cubes in it.
a. What is the ratio of orange to yellow cubes?

b. What is the ratio of green to blue cubes?

c. How many different ratios can be formed, when you compare each colour to any
one of the other colours?

6TeoT6ur L (LN 6ITem 6 (h QLI IqUNl6L 3 LIFem&, 9 [H6uLD, 4 LOEHEFEIT, 3 BLITEHS 6T6UT 24 6L GTOTEUUT &560TE
TSI EIG 6T 2_6TETeUT. 6T60r16L

a.9LTEh& LDMMILD L0 EHFET & eoT&F&F T mIGerfleirT 681G &LD eT60T6uT?
b. UFe&F LLMMILD HeulD & 60T &SIy MhI G 6rfleor NISGLD 6TeoTEOT?
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c.62(IH 6L 60TEUOTS; 60 LOMM 6L 6UOTEUuT MBI GG TR LI L () 6758 emeur 695 551 6T &IT6UOTEVITLD?

a b c
A) 3:1 1:2 10 ratios
B) 1:3 2:1 4 ratios
C) 1:2 3:1 12 ratios
D) 2:1 1:3 12 ratios

196) The value of product increased from Rs.80 to Rs.100. Find the percentage of
increase.
@@ umperflesT eflemeu 80 epLIMUIN e (HIHE 100 HLUTWITS 2 W HS S eTevflev, 2 wrey F5eisLD

A) 2% B) = % C) 20 % D) 25 %
4 5

197) The equivalent of (0.756 » -)?
(0.756 = %) & FIDIDTEOTSI 61517

A) 18.9% B) 37.8% C) 56.7% D) 75%

198) If a fair coin is tossed 10 times, then the probability of obtaining at least one
head is:

6@ (5 [HITEUUTW & 6m& 10 (Ln6mM &r6voT LNl LILIL L IT6L GeMMIHS S 2(H &6M6V6n LU W TeU gl GlLI M6 g M & Teor
B&H586:

A) 1/1024 B)17/1024
C)1023/1024 D) More than one of the above

GLNG6Y 2_6ITEIT 660TMIGHES GLOMLIL L 606

199) Convert into fraction 233 % -%

233 % -% - 23 L9 60TEOTLO TS LOIT M MIG.

A) 27 B) 3 Q) 2 D) 3

200) A number when decreased by 16% becomes 42. Find the number?
6 (b 6TEUUTETDIL 60T |[H& 6T6UOT600I 60T 16%-23 (G6MMESH 60L& (G LD 6TevoT 42 6T60I160 {55 6TEUOT 6TEOT6OT?

A) 50 B) 52 C) 58 D) 60
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G5 ITeY QSITL MIGUSHMNES (LN6T BCLY 2 6T aufl(LNEmM & EMET &eUETIOMS L LILG&&aLD.

WE&H W 61 (LD 60IYM B 6iT:

@bS LUSH5S5T 6T 9L (@hS LIS&I0) CHI6| QML BIGINECLITS &e65oTss MeutLILITETT 605605
Q&EMTHHGLD T HMESS Fnl M. IaUT MFMS QHETHSSSID, LSSHHEH 6T 3L WleaT aleugl
L&&HS5MS SHeleTnnss KNGS LS555m55 HMaaHan. Llarar] Camearallsers @ alleanl ol6fleass
Q&ITL IS MBIGHET.
@bs Caarallll LS 555 560 200 C&erell&6iT 2_6Temeo.
Imers Sl CoeTall&EhE GLD LIS I6fl&sa . 9emers gl CH6iTell& @58 G &FLo
0B LIG)LIGUOTS: 6T 2_6ITEIT60T.
@hS LIHHSH 60T GO aUeVG LIGHSH 60 2 6TaT @)L &5H 60 2_BIG6T LIS 6 6T600T60600T 6T(LDG 6] D.
allemLsener GNILILIL Sefl68 LIG6V ST6T &65or8s 6ol 1L 1LIMETITT6V 2_hI56h&H G &6oflsHeolumg
QIpmIGLIUGILD.
LIS6L merfledr LIS 160 aUpMRIGLILILL @L&SH 60 2 miseT LiFe erevor, LML Lfley Gmlui®h
GUMeTmeUMeNM &(HLIL| emln L& GUeTmaumey GMIuTh LB SSHeLD.
eI CaateiluyLd [A], [B], [C],[D] LDMHMILD [E] 6T6dTm B35S 6560)L_&H6m6ns G & meoor(R6Tengl. & iflulmeor
allemLenw L (HLD CHIHASHHS 2 MmG6T LH6 Smefley Gnlsseah. @@ CaHearallsh @ eaTmisHE
CumuULl L Fflumer ellenL &6 @LILSTS BHIGET 2 eorJHHT60, FMHEHSTHES SHIHSID ellenLemis
GMl&&a|D. LU UBHS T, RaICaITIH CHaTalliHGn G e allenLemls CHTHASH &S LD.
LIBlev smerfley, el el CameTalls @ er&ymaalb [Al, [B], [Cl,ID] nMmild [E] 6T6dTm Kb S
SIS GM&H6T 2_6Temer. CHeTal&HEhsH G ellenl 3i6fl&s, el CHeTalsELD o BIgGe6T
Gayaller e SemLLILGBGMlenW &L LbE GueTmeaumev Lol (Hh &nilés Gausor(b. GameTaill]
LS55H5H 60 2 6T6T 6lGaUT(H CHeaTalli@n @Ff ellemLamwis CHIHeSH S LIF e smerfley
GM&&HaD. @[ CHaTallsE 6TMISHEG CMHLILL ellemL_&HemneT BRIG6T &GM&HE5M6, 3Hs el
SAMMHSH SHHSLILGILD.
Caatellll LS 588 560 (BHSI 6THS SmeneaTw b Hriser HaeHeCeaur RLN&HHCIT Fal TS,

. ahSs FHCHEHSH MG SLHRH L] LG LICU @) MIH WITergl.

. CaaTealll UG 55:55)60 60L& G 198 S| eMLILITETD eMeUHHCaIT S{6V6VE (M &HHCIT Fal M.
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